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Topic:- Grad_Nutrition and Health

1) Which one of the following nutrient provide more energy?/ s:n?r’@raﬁq-m TYe dad 3P SHelt
WS vl 82

1. One gram carbohydrate/ T& U HTaTelRSC
2. One gram fat/ U UH IdT
3. One gram protein/ U UH Ui

4, One gram vitamin A/ Tsh U1H faer A

Correct Answer :-

e One gram fat/ T UH I

2) Components of the ICDS scheme is/are:/ ICDS ST T:Fr/a? Uch %/%':
1. Supplementary Nutrition/ IR gieoT

2. Immunization/ IRRE R

3. Health Checkup/ T4 Sifd

4, All the above/ SR & Tt

Correct Answer :-

o All the above/ W & gHi

3) According to ICMR-2010, One microgram B-carotene after conversion will be equal to:/ ICMR-
2010 ¥ 3R, TP HISHIUTH B-HIIH FURRY & 16 & SRIET gRII

1. 6 pg Retinol/6 ug et
2. 8 g Retinol/8 pg IfeATd

3. 10 g Retinol/10 pg feHid



4. 12 pg Retinol/12 g 3feTd

Correct Answer :-

« 8 g Retinol/8 pg XfeAla

4) Pigeon chest is the symptom of which deficiency disease?/ HUId 98 (fl’-lGF-r ﬁR’) fea AT AT
BT AL §2

1. Rickets/ Rapeq

2. Malaria/®aRar

3. Night Blindness/ et
4. Anemia/ Q:ﬁﬁ'ﬁﬂ

Correct Answer :-

« Rickets/ Rareq

5) Rich source of vitamin C are:/ fae1fiF ¢ &1 99 ®a &-
1. Fresh Fruits/ diSlT thel

2. Cereals/ 3T

3. Pulses/ qld

4. Milk/ g4

Correct Answer :-

e Fresh Fruits/ dreil ol

6) According to ICMR 2010 the amount of Kcal/Kg body weight required by infants (0-6 month)
per day are-/ ICMR 2010 & 3R, Tauid fait (0-6 ATE) F forw ufafeT smaxas fHat Hast/ e
IRR YR &1 95 8-

1. 92 keal /92 fal HaRt

2. 100 kcal/100 fara Har
3. 108 kcal/108 faral et
4. 120 kcal/120 el Har

Correct Answer :-

o 92 kcal /92 farefl R

7) Which of the following is needed by bacteria to assist its growth and multiplication?/ TsﬁﬂTUJ &t
gf SR TgIUH & Weradr & g 39 | fPua smaxgwar gt 82

1. Water/ oid

2. Food/ @Tg-ugr



3. Suitable temperature/ 3Ugdd dqHTT
4. All of the above/ G‘C@EH b

Correct Answer :-

e All of the above/ B’Cl?jaﬁ Tt

8) The most important parts of treatment of diarrhoea are:/ q¥d ¥ IR F Faifus 'FI%ETLUf YT %
1. To prevent dehydration from occurring, if possible/ afe TRd 81 Y fAcieiien=ur 81 &t AHUm HAT

2. To treat dehydration quickly if it does occur/ AT fASTelRUT BT ST Al SHHT doil I SUAR HRAT

3. To feed the child/ S= ST UT HRAT

4. All of the above/ ITdad Tft

Correct Answer :-

« Al of the above/ Sudad T+t

9) Disease which is caused by protein-energy malnutrition is:/ MAT-Suit Q)‘lﬁ'EI'UT & HRUI N arel
T B-

1. Tuberculosis/ &R T (CISRP ANR)
2. Kwashiorkor/ &R IHR

3. Fever/ §UR
4, Malaria/ AQRAT

Correct Answer :-

o Kwashiorkor/ 1R IHR

10) Oral rehydration salts (ORS) solution therapy is used for the treatment of:/ 3R ﬁ?ﬂ%"{lﬂ
Wieed (ORS) Hd fafde &1 SuahT ¥ IUEIR | forar irar 8:

1. Constipation/ &esl

2. Ulcer/ XX

3. Obesity/ HieTdT

4, Diarrhea/ TUgUl (Gx)

Correct Answer :-
« Diarrhea/ TUgUl (G&)

11) Dengue Fever is an outbreak prone viral disease, transmitted by:/ 37 §ER duil ¥ Haq &1
HHTEAT aTelT U fAWTuLora 3T §, 9% SR TaTid ghar ?1

1. Aedes mosquitoes/ TS A3




2. Plasmodium falciparum/ WSAISTH ey
3. Anopheles culicifacies/ TAIfthels Geiib el
4. An. Fluviatilis/ 1. TrIfaufefer

Correct Answer :-

« Aedes mosquitoes/ TS ISl AR

12) Polio virus entered in the body through:/ T REMI IR A & Aoy A yaxr &l &
1. Mosquito bite/ H=X & PlcA

2. Infected food and water/ Thfird HioH 3R S

3. Cough/ @

4. Dog bite/ Qﬁ & Ppled

Correct Answer :-

« Infected food and water/ TshTad HIGH 3R &

13) Which of the following is not a problem of pregnancy?/ S8 ¥ S THITRIT 1 JHHT T8l 82
1. Nausea and vomiting/ SS13aT 3R Iaed]
2. Teeth decay/ ard RIEEI

3. Constipation/ e

4. Oedema/ TSHT (A THA §1H I I Joi-)

Correct Answer :-

e Teeth decay/ 15} g

14) Cretinism is a disorder in children born to mother who had a deficiency during adolescence
and pregnancy of-/ $el-dl (SSarar) Uh faeR ¢ it fPiRmawr 3w wuHiawr # P W I
HfEa 76 Arar A o T8 | g 2

1. Calcium / Care

2. Iron / 3TORA

3. Phosphorous/ BRBRY
4, Todine/ 3MAISH

Correct Answer :-

e Iodine/ IMNSH

15) Integrated Child Development Services (ICDS) was started on:/ Tfepd T1a e Aarsit
(3RS TT3Ts SaAUHE AidAT (ICDS)) BT ARH 1 g Tl




1. 2nd July 1975/2 TS, 1975
2. 2nd August 1975/2 3{T1Xd, 1975
3. 2nd September 1975/2 f&dsR, 1975

4. 2nd October 1975/2 3HdgsR, 1975

Correct Answer :-

e 2nd October 1975/2 3R, 1975

16) Tuberculosis is an infectious disease caused by the:/ TIERFH AT TPH HHTHS 1T & oY

q grar g:

1. Salmonella bacteria/ JTEHMET SHATI]

2. Bacilus Mycobacterium/ SR ARG Ia IRTH
3. E. Coli/ 3. P13

4. Virus/ fauigy

Correct Answer :-

» Bacilus Mycobacterium/ EIGRR R CACE SRRt

17) is involved for exchange of nutrients, oxygen and waste products between the

mother and fetus during pregnancy./ THIGRIT & SR ATl 3R Ty Ry & diw s aal, sifRiteq
3R 3rafre werif & faftma ¥ forg SRR g 21

1. Placenta/ THATA (WidicT)

2. Fallopian Tube/ Balfua ferent

3. Neural Tube/ dfeT ATel (el <)

4. None of the above/ IRIad & ¥ 18 Tal

Correct Answer :-

» Placenta/ eI (@@ET)

18) According to ICMR 2010 additional calories and protein respectively required for an expectant

mothe%are-/ ICMR 2010 & 3R MHadt afgen & g smazae sifafivad Fart o wids 3t amEmg
U 3-

1. 650 Kcal, 15 g/650 fral HaRt, 15 U™
2. 550 Kcal, 10 g/550 felt e, 10 T
3. 450 Kcal, 27.2 g /450 fbell Banl, 27.2 T

4. 350 Kcal, 27.2 g/350 fra an, 27.2 a9

Correct Answer :-

« 350 Kcal, 27.2 g/350 f&al FaRl, 27.2 M



19) The important minerals within bones are:/ 3‘%‘0‘[ # UIg 9+ ard e Ef e g
1. Calcium, phosphate and chloride/ HfeRIIH, Hithe 3R FARZS

2. Calcium, phosphate and iron/ %@ZRTH, BT 3R 3MRT

3. Phosphate, magnesium and chloride/ W‘l@v_c“, e GhTEIEﬁTIEE

4. Calcium, phosphate and magnesium/ mﬂ, Bidhe 3R AWREH

Correct Answer :-

« Calcium, phosphate and magnesium/ & eRTH, Bidhe 3R AMRIH

20) The chest in a normally nourished child grows faster than head during the:/ I U T uifta
¥ P B ¥ IR 3P AR A 34f¥re Aol A gadt

1. First year of life / Sfia & wyy a9
2. Second and third year of life/ Sfta & fgdfia ud qefta adf

3. Adulthood/ dIIHTIRIT
4. None of the above/ SIRIgd H I P gl

Correct Answer :-

« Second and third year of life/ Sia- & fg<ia Td qaira au

21) Iodine deficiency in mother during pregnancy can lead to:/THIG®IT # ATaT & TANSH & HHY, FT
BRI 9 TH &

1. Low Birth Weight/ S/ & ¥HT YR &H gH

2. Anemia/ THIFEET

3. PEM
4. Cretinism and psychomotor defects/ SheHdT (STSaTHAT) Td AANTITAS (THHIER) fAeR

Correct Answer :-

e Cretinism and psychomotor defects/ Har (SIS Td TARTATHS (FquElﬂTﬁET) faeRr

22) ELISA test is used for the detection of:/ TATSW (ELISA) UV&UT T SUTRT BT Udl ATH &

forg gar 21
1. Hypertension/ 3=Raddd

2. Diabetes/ ﬁ‘ﬂﬁ'a'

3. AIDS/ U89
4. Obesity/ HieTdT

Correct Answer :-



« AIDS/ USH

23) Disorder involves repeated or chronic ingestion of non-nutrient substances which may include
plaster, charcoal, clay, ashes etc. is known as:/ 98 faeR oW aafed TR-IR 7 &9 99T dF UTSH
], S WReR, IR, g, 3@ onfe ) W g, gl &

1. Pica/ UTSeT

2. Mica/ 3y (HTSH)
3. PEM

4. PIH

Correct Answer :-

e Pica/ UIgh1

24) Which of the following is not a monosaccharide?/ $9H ¥ ®I 91 TH HHIAPISS 78] 82
1. Lactose/ AderT

2. Glucose/ ‘@\_ﬂ

3. Galactose/ Tdde IS

4. Fructose/ Thae ol

Correct Answer :-

« Lactose/ daeisl

25) Children in the age group 1-5 years of ICDS receive 2,00,000. I.U. of vitamin A solution orally
every:/ ICDS & 1-5 T4 T & gl BT & TR fae1f® A & 9ia $t 2,00,000 I.U. TE gRT &
et 81

1. Three months/ <F A8
2. Four months/ dR HIg
3. Six months/ &: HIg

4. Nine months/ :ﬁi:l'l%’

Correct Answer :-

¢ Six months/ &: HIg

26) Beri-beri is the deficiency disorder associated with which vitamin?/ -3 fw faerm |
Fraferd g b1 PR 82

1. Thiamine/ Yrafe=
2. Niacin/ o=
3. Riboflavin/ IZETIfa—



4. Pantothenic acid/ Te1dfR® tRig

Correct Answer :-

o Thiamine/ YrAMAT

27) In India the suggested weight gain during pregnancy is:/ YR # THiaRT & a?'F-l '\ﬂ?ﬂ'lﬁ'cl UR

T e:

1. 4-6 kg/4- 6 fobum

2. 5-6 kg/5-6 faom

3. 11-13 kg/11-13 &

4. 15- 25 kg/15- 25 f&3n

Correct Answer :-

o 11-13 kg/11-13 f&U1

28) Which among the following cannot be prevented by Antibiotics?/ Eﬁﬁmﬂﬁ AHUH

TAaTafeR gRT T8 31 o IPdl 8?2
1. Measles/ IR

2. Tetanus/ e $§ A

3. Leprosy/ $8 AT

4. Cholera/ &%l

Correct Answer :-

e Measles/ GIRT

29) Influenza is an acute infection of short duration, spreads from person to person by contact
inhalation of:/ S-HRIUSIT SUTATY BT TH W1 THHUT g, S T IS /] 919 GRT <R foe o
¥ gRI TP afeT A gk afad o o 8:

1. Bacteria/ Sftary]
2. Virus/ faumg
3. Fungi/ dd
4. Algae/ PG

Correct Answer :-

e Virus/ ﬁqTUl

30) The refers to the time from fertilization through the development of the early embryo
until implantation is completed in the uterus/ o1 of = I Ao, il Yot ¥ o a
gia gT, Tufzr & Auur & ufsar gt 8 91 96 @[ 9 W A )




1. Embryonic stage/ YUITaXIT
2. Germinal stage/ SHM® 3awd

3. Fetal stage/ TS 3rax1

4. Infancy stage/ FaSIId {dRIT

Correct Answer :-

« Germinal stage/ SHH® 3{aRIT

31) Which one of the following is not a symptom of marasmus:/ sﬁﬁﬁq WY (GREl ﬁ'lT) Cai
TS A&I0T T8l 82

1. Moon face/ I&-Jd
2. Muscle wasting/ ueft e
3. Growth retardation/ f{@ et g ST

4. Wrinkled skin/ §Ij aR &=l

Correct Answer :-

« Moon face/ Ig-J&

32) D.P.T vaccine is used for the prevention of:/ D.P.T AR BT ITHT P APYH & ﬁf&,’
foaT < 8:

1. Polio, Diphtheria and Tetanus/ tﬁ]%ﬁiﬁ, feuifar sk feeg

2. Diphtheria, Whooping cough and Tetanus/ %&%ﬁﬁm, CA] @wﬁ, 3R feeTg
3. Tetanus, Tuberculosis and Polio/ e, caRGNRI 3R Tiferay

4. Diphtheria, Typhoid and Tetanus/ fSuiRar, erpigs 3R feeTg

Correct Answer :-

« Diphtheria, Whooping cough and Tetanus/ fSTiiftar, 1efl @ia, 3R feeg

33) Which one of the following pair is wrong?/ 71 & $I--HI SIIST a4 82
1. Rabbis- Dog/ Y&l - Eall

2. Plague- Rat/ T - gl

3. Tapeworm- Pig/ WIdl $fF - R

4, Polio- Monkey/ Tiferr - Fax

Correct Answer :-

« Polio- Monkey/ Tifer - IR



An average daily milk production for lactating women is:/ T-UIF &7 I8t Afgarsi & siwa ¢ gy
SIG Bl 8:

1. 650 ml/650 e
2. 450 ml/450 forett
3. 350 ml/350 fareit

4, 250 ml/250 e

Correct Answer :-

« 650 ml/650

35) A healthy child doubles his birth weight by the age of:/ WX T BT R, i 31 db
IqP 9 & AT & YR BT GRIAT g1 91T

1. Two year/ Ty
2. One and half year/ 3?58‘@
3. One year/W?ﬂf

4. Six month/ ©: HIg

Correct Answer :-

e Six month/ ©: HIg

36) Vitamin D prevents:/ flei®A Y _____ &} Iy Fvan &
1. Ricket/ Rebcd

2. Osteomalacia/ 3T (TRIHIRR)

3. Osteoporosis/ JRCATIRIRT

4. All of the above/ Judad Wit

Correct Answer :-

o All of the above/ E'CRjTﬂ Tt

37) The number of babies dying in the first year of life per 1000 live births is known as:/ ufd 1000
Tollg 71 TR Sia<T & UyH a9 | W+ a1dl Riggei 3t " at gl Il gl

1. Infant Morbidity rate/ dGITd 20Tl G
2. Infant Mortality Rate/ Taulld Hg &
3. Maternal Mortality Rate/ HIJ g o)

4. Maternal Morbidity Rate/ HI ®0TdT &

Correct Answer :-

 Infant Mortality Rate/ aqiTd Hg &



38) Which classification identifies type and duration of malnutrition?/ PI-1 qAffpor ?Cﬁ"SFUT &
THR 3R afY BT ugar Fdl 2

1. Gomez classification/ TIHST GffR0T

2. IAP classification/ IAP d¥ffes U

3. Waterlow classification/ @Texall giffaur
4. Welcome classification/ JdPpH qifferur

Correct Answer :-

« Waterlow classification/ @ieell aiffesur

39) Additional protein requirement during pregnancy is essential for:/ THIGRT & E?RF[ SICRUED
sifafvea wid= & fore Sirawy® giar 8:

1. Rapid growth of Fetus/ T+ Rig] &1 <far gf

2. The enlargement of the uterus/ THIT & 3MHR | q@

3. Formation of amniotic fluid/ 3¢ o (TR ® Uegs) & fAwfr
4. All of the above/ ITad Tft

Correct Answer :-

« All of the above/ Iudad Faft

40) The beneficiaries of the ICDS Scheme is/are:/ ICDS IEE | Tﬂ/a? LI %/%':
1. Children in the age group of 0-6 years/0-6 TS @1 3 & T

2. Pregnant women / gt Afgang

3. Lactating mothers/ ¥-T0T &1 a1 Ay

4. All of the above/ ITdad Tuft

Correct Answer :-

« All of the above/ Judad Faft

41) Energy need during pregnancy increase because of the additional energy required for the:/

THIRIT & R SHuil 1 SaRadal 9¢ A 3 | & g sifafaa et anfew g &:
1. Growth and physical activity of fetus/ T fRIg] &t 3fG Td IR TR

2. Growth of placenta/ THATA &t IfG

3. Increase in maternal body/ TTdT & TRR & gig

4. All of the above/ ITad Tuft

Correct Answer :-

o All of the above/ B’Cl?jaﬁ Tt



42) Cholera and diarrhoea are caused by:/ %\‘rlT 3R o gRT ﬁﬁ%
1. Viral infection/ fawTo] Sehror
2. Bacterial infection/ SaT0] HehHoT

3. Worms/ &0
4. Protozoa/ Eﬁ?ﬁ\‘rﬁw

Correct Answer :-

« Bacterial infection/ STAT0] b HUT

43) A vegetarian mothers have more chance to getting the deficiency of:/ UTHTERT drar o
Tt HH TN Bt WUEAT fUF Bl 3:

1. Vitamin ¢/ faeifi= €
2. Vitamin A/ faei®= A
3. Vitamin B-12/ fde1fi= B-12

4, Iron/ 3TARA

Correct Answer :-

« Vitamin B-12/ fdeif®= B-12

44) Skin-fold calipers measured the thickness of:/ f&p-Wics Hferad P HieTE AIUd §:
1. Protein layer/ U9 &t U

2. Fat layers/ a9 &1 Ul

3. Carbohydrate layer/ FEEHSE B! Ut
4. Water layer/ O &1 U

Correct Answer :-

« Fatlayers/ 941 P Ud

45) Tetanus is characterized by:/ feeTa =1 siftraeror %:

1. Muscle rigidity and painful muscle spasms/ ufer | TedI Td E&"{I&H Uo

2. Stiffness and pain often begin in the jaw muscles/ Ui: GIEI%’ o1 UfRkm 9 H’@tﬂ U9 g B R 3AHTd g g
3. Pain abdominal muscles/ 3ax ! ORRN ¥ &¢

4. All of the above/ ITdad Tft

Correct Answer :-

« All of the above/ Judad Tt



46) Which one of the following vaccine given as Birth dose (within 24 hours) for institutional
deliveries: / TRITTA Yal & 1T 370 A HIF-1 IRAT o & TG B GRIP (24 6 & <) $ U A
T <irar &:

1. Hib/ TI3fTSelt

2. Hepatitis-B/ gUcT8cH-B

3. Pneumonia/ =gHI=T

4. Lyophilized/ iRH-[H1dhd (ARAfhaETs)

Correct Answer :-

e Hepatitis-B/ %ﬁ?lsﬁﬂ—B

47) During the first two or three days watery and yellowish fluid that comes from the mammary
bland differs from the regular milk and is called:/ ‘{Nélﬁ’r a‘r T d_ ﬁT-ﬁ * fl?‘Fl o IRy | gaar
T4 e R 37T @ o Irg gy | firs grar g, 39 FEd &

1. Special milk/ fo=iy [
2. Brown milk/ W’a‘iﬂ
3. Colostrum/ TN (PIcieH)
4. Cholestrol/ CANESRN]

Correct Answer :-

« Colostrum/ T (HIdRcH)

48) 25th February 2012, WHO removed India from the global list of:/ 25 WRa3l, 2012 &} fay W=
TS (WHO) 3 HRd B o1 Ay Tt A A far ar:

1. Measles endemic countries/ WA TR CIEE

2. Polio endemic countries/ ifera IIETJTIﬂ a o

3. Tuberculosis endemic countries/ Wﬁm HeMR! aid o
4, Tetanus endemic countries/ féeT9 AR a1 X1

Correct Answer :-

« Polio endemic countries/ TIferal AETHRT aTal <

49) Green Leafy vegetables and fresh fruits are the poor source of:/ g TRigR Ifoorar 3R d B
BT 33T Wi T8l 2

1. Protein/ Ui
2. Vitamin A/ fde1fd= A
3. Vitamin C/ fae1f@a ¢

4, Iron/3RRA



Correct Answer :-

« Protein/ UIcH

50) Which programme comes under the umbrella of National Rural Health Mission?:/ PI-I1

STIHH APTI AT WA AT F rax | 1T 82

1. Todine Deficiency Disorder Control Programmes/ 3Taled JIAdl fa®R fAd=0r sy

2. Vitamin B Deficiency Disorder Control Programmes/ faeifii= B =g7aT fasR a0 srisH
3. Vitamin C Deficiency Disorder Control Programmes/ faeifiia ¢ =g=7aT fasR =0 srisa
4. Calcium Deficiency Disorder Control Programmes/ PicRaq GAdT fawR oo ®rfey

Correct Answer :-

« Iodine Deficiency Disorder Control Programmes/ 318 gdT f®R Ad=mr wrfswy

51) Which factor affect the low birth weight of fetus?/ ®H-1 FR® TRy RN F o7 & T99 FH
YR & YU BT 82

1. Age of the mother/ Tl &1 3

2. Improper or inadequate prenatal care of the mother/ HIdI P Gﬁﬁl‘d 71 3ruafe Wqﬁ RGHY ]
3. Both of the above/ IWRIad g

4. None of the above/ IIRIgd H I Pg gl

Correct Answer :-

e Both of the above/ IR gHl

52) A child who is shorter than the expected age group is known as:/ 3raféra Sy it '\&maﬁm‘
T T B ST ST 2|

1. Wasting/ &3t
2. Stunting/ q@-w
3. Underweight/ I ¥ &9 UR

4. Overweight/ T ¥ 3% YR

Correct Answer :-
« Stunting/ I(G-3&

53) Which of the following factor affect the fetal growth during pregnancy:/ Tyfawyr & SR MR
gy 3 9fS Y 379 A F9-1 FRS gUIfad Far 82

1. Infection/ shHUT

2. Nutrition/ GTSor
3. Genetic/ 3TdfRIdH



4, All of the above/ Judad Wit

Correct Answer :-

o All of the above/ E'Clgﬁlﬂ Tt

54) NRHM stand for:/ NRHM &T X1 =TT &:

1. National Health Mission/ RId B IR (P W@ SHfvr)

2. National Rural Health Mission/ el ¥%d 3 R (ST ATHir Wy 3ifiar)

3. National Reproductive Health Mission/ T=Id RuTsfacd ge A=A (ITTT U WY HI)
4. National Regional Health Mission/ Tl Yed sl AR (ST & A o)

Correct Answer :-

« National Rural Health Mission/ I=Iel ¥ g fARM (IPTT i Ty 3ifivam)

55) Newborns lose heat rapidly after birth so it necessary to keep birth room temperature:/ S
F TG Aaurd RIgai F IR A ST BT avlt | T SIT 8, FAFAT 57 & B R IGAT ATIAD
ﬁ?lT %:

1. At least 15 °C/ HH ¥ HH 15 °C
2. At least 25 °C/ &H T &HH 25 °C
3. At least 35 °C/ &9 I &HH 35 °C
4, At least 45 °C/ HH T BHH 45 °C
Correct Answer :-

e Atleast 25 °C/ HH ¥ &HH 25 °C

Topic:- Grad_General Knowledge and Logical Ability

1) The disease 'beri beri' is caused by the deficiency of: / 8 39 P faerfiE &t st @ @T‘IT %
1. Vitamin B / faeT® B

2. Hormones /E'I'J:lﬁ

3. lodine/ TS

4. Iron / Fﬁg[

Correct Answer :-

« Vitamin B / fdefi= B

2) In how many categories of awards is the Kayakalp scheme categorized? /

PRTH o1 & PRI i foraq AN § Sfdrra foran wam 82



1.1
2.2
3.3

4.4

Correct Answer :-
e 3

3) The additional structure which provide nutrition is:/ Sifafyed =T &I Yur CaRL LI YUald Bl

1. Amnion/3cd
2. Chorion/SIRTg
3. Umbilical cord/ATTHeRT

4, Placenta/ 3{UR]

Correct Answer :-

e Placenta/ 3{UX]

4) In which year was the Tribal Cooperative Marketing Development
Federation of India Limited set up by the Government of India? / s<da
ST GghTl fAqore faeTer Agreer &7 AT 9Wa 9 9 ®ia9 a9 § AT or?

1.1987
2. 1988
3. 1989
4. 1990

Correct Answer :-

- 1987

5) If 'English’ is called 'Hindi', 'Hindi' is called 'French’, 'French' is called
'Gujarati’, 'Gujarati’' is called 'Bengali’, then which of the following is local
language of gujarat?/dfe ‘3RS’ &) ‘&) a1 wrar g, & & ‘W’ oer wrar g, b
aﬁ‘ggwﬂ’mm%,‘gmﬁ'aﬁ‘@mﬂ'mm%,aﬁﬁqﬁﬁﬁﬂvﬂwaﬂw-—ﬂn
HTYT 52

1. Bengali / STITelt
2. English/Gi'aTrﬁ
3. Hindi/fgd!



4. Gujrati/? STt
Correct Answer :-

« Bengali / STl

6) DIRECTIONS: Find out missing number from the figures given below./

o e & wih snefaat # g Tem yra P

54 30 112 42 7 28

% / A ; % 7
N 7 N A

1. 76
2. 66
3.10
4.9

Correct Answer :-

7) Which of the following humbers have been allocated by the Government of
India as the Women Helpline Number for all States/UTs? / Y% T3/ oanfaa
TR % T AT THTE F FIAH G&AT T HigAT goddTed da¥ & €9 § safeq far?

1. 112
2. 108
3.181
4.1097

Correct Answer :-

- 181

8) CANCELLED
Which one of the following options is/are true? / 7% & ¥ ®iar ey @t 872

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ &=g STrfaare sifaf==m, 1956 afedi & UF 64 fgrg Taw o Fad
TRt 7 STfareRTe |T Jehedt 8



2. The Hindu Succession Amendment Act, 2000 gave daughters the right to inheritance
with her male siblings / &=z STTfaraTe emras srfafaaw, 1956 & grr afet & sra= wrz=i % a7
e T srfereTe e R

3. Both of the above / 39k =T
4. None of these / =7/ ¥ FI< AGT

Correct Answer :-

« The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ &% sarfamme srfafaas, 1956 afedt &1 U §3w fgrg TRaw & 3
TRt 7 STTARTE |IvT Thedt 8

9) Which of the following options is not correct about the Sexual Harassment
of Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013?

9 ® & FI=aT AT w7 wrAeAd U A w e (Fareor, gfaae sic gfaam) sfarf=m, 2013
Traet faheT 98T T8l 52

1. The Presiding Officer of the Internal Complaints Committee must be a woman/safF

forTra wfefa & srefrarar wigaT geT ==y

2.‘Workplace’ would not include dwelling place or house / ‘FEHEI’ & @[ AT =T ATHHA
Tl ©

3. Every district officer shall constitute a Local Complaints Committee / & foraT stfarrmr
T U FATT forrrara afufa &1 7o Fear a2

4. None of these / 378 & FIE gl

Correct Answer :-

« ‘Workplace’ would not include dwelling place or house / ‘FTHeIa § AT AT A ATHA
T &

10) DIRECTIONS: Choose the missing terms out of the given alternatives./

fordar: fou e feedt § @ gt vl &1 91d &3
XX __ Y __XYYX_Y

1. YYXY

2. YXYX

3. XYYX

4. YYXX

Correct Answer :-
e YYXX

11) According to the National Food Security Act, 2013, which of the following
options are true? / TET T AT ATATAIH, 2013 F¥aeeft 7 faweui & & F=4T 981 872



1. It extends to whole of India / T8 T 9 # AR &

2. There are 5 members in the State Food Commission / Trsa @Ter ¥ {d § 5 9a+7 gId &
3. Both of the above / 39 2MT

4. None of these / =% | &I A&l

Correct Answer :-
« It extends to whole of India / I8 T 9Xd # @R[ &

12) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically follow(s) from the given

statements./ féx: 2 fow 70 Uz & 5 $Y R ITP a1¢ $o Fewd few w71 suw
U T SYAT FIAA ATFAT 8, HA S A Jagmd aa A fi= wdtd g1 81 1 3+ freeut &) ufew
ﬁwggﬂﬁq%ﬁqwﬁwﬁﬁﬁﬁqmmﬁ' FU I JERVT HIT §, T8 FA9Td 9%
O |

Statements: /PY:

All birds are parrots/ﬂ‘l-ﬁ U&ﬁ,ﬁﬁ?

All parrots are farmers/94} ?ﬁﬁ, W%

Conclusions:/ﬁ'@ﬁf:

I. Some farmers are birdslwmﬁ, q&ﬁ?

II. Some parrots are birds/W?ﬁﬁ, U&ﬁ%'

1. If only conclusion I follows /3¢ dad fsy I &IENTUTW%

2. If only conclusion II follows/af¢ dad FsHY II &I'—ETUTW?IT%

3. If either conclusion I or II follows/af¢ a1 i fAspY 1 41 11 GFﬁTUTW%
4. If both conclusion I and II follow /Hﬁﬁf@h—ﬁf I 3R II Y G{EREITUTEF{?[%

Correct Answer :-

. If both conclusion I and II follow /afe Y 1 &R 11 EHI SFI¥RUI HRd &

13) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women can be called ‘Sati’? &<t afofa (Trram) srfarfRam, 1987 & siqsta e &
T FIg FiZATH A1 Tl i Sofy H @ 7 FoRwar 872

1. A widow being burnt alive along with the body of her deceased husband forcibly / T+
HiAT S o qaF 9q F <8 F AT TILIEd T ST (<37 7 2T 8

2. A woman being burnt alive along with the body of her relative voluntarily / 7= #fg=T
ST 31O o Tradl & 38 & 979 I TA=a1qa® AT (<47 57 T@T 8

3. Both of the above / 39k g1




4. None of these / 378 & #IE LT

Correct Answer :-

« Both of the above / 39TI=F AT

14) If an elephant is sold at a gain of 8% instead of at a loss of 7%, then
seller gets Rs.105,000 more. The cost price (in Rs.) of the elephant is: /‘qﬁ{t{ai
BT B 7% T BT U&T 8% TATH WR o<1 914, a1 fashdT S T 105,000 31fUF W 81|

a1t &1 waue (3. H) 7
1. 400,000
2. 660,000
3.700,000

4,760,000

Correct Answer :-
« 700,000

15) DIRECTIONS: Which of the answer figures is exactly the mirror image of
the question figure if a mirror is placed on the line AB?/ fdr: g & § &1 Tt

IR STHia U= 3pfar BT guor ufafea gnft afe wwedor Yar AB W T@r wid?

Question Figure JJ' Te AT

ALY g

Answer Figures / 3t HTdhfcm

Bl B
(1) (2) (3) (4)

1.1

2.2
3.3

4.4

Correct Answer :-

16) Which layer is responsible for process to process delivery?/ PIRE| §Eﬁ@?
feetadt & fore o9 3t R iR &

1. Physical layer/ fthfSied oaR



2. Data link layer / STeT foies TR
3. Transport layer/ TRIUIC TR
4. Network layer/ Jcad R

Correct Answer :-

. Transport layer/ TRIAE TR

17) A computer on internet are identified by : / §eAE W TP HHeR
gaTHT STl §

1. Street address/ TTcll &1 Udl

2. IP address/IP Udl

3. E-mail address/ 'sc—ﬁﬁtl?ﬂ
4. None of these/ STI'f[ I ?ﬁ'sc ol

Correct Answer :-

« IP address/IP Udl

18) Which of the following statements is/are not true about the Indecent
Representation of Women (Prohibition) Act, 19862 / wfzwT &7 srws wiafatera (o)
srterfeam, 1987 avaeelt 4T fArshed qgl A5l 87

1. It extends to whole of India, except Jammu and Kashmir / og srfarfare Sy i ez &
AT T AT H AT E

2. Representation on any ancient monument cannot come under this law / B sr=h=

T | o AT 2 Tfafatecd o0 Afa=as & Siaeia qgl o dehdi
3. Both of the above/3u<I<h g1
4. None of these / T#% § #IE 7al

Correct Answer :-

« None of these / 98 & FIE LT

19) For how many maximum years can a parent or guardian be imprisoned for
promoting or permitting solemnization of child marriage under the Child
Marriage Act, 2006? / st foraTg srfarfaas, 2006 ¥ srqa e fraTe & daenfasar #r agmEr
< AT AT < F Forg wrar-faar 7 sfsraras # frae stfersraw aut & s T o asar g2

1.2
2.3

3.4



4.5

Correct Answer :-
e 2

20) When was the Scheme of Top Class Education for ST students introduced?
/ T TASTAAT % T T FATE TUeAT 7 ST T AET FGE 99 G 63T 97?2

1. 2005-06
2. 2006-07
3.2007-08
4, 2008-09

Correct Answer :-

- 2007-08

21) A group of men decided to do a work in 15 days, but 10 of them absented
themselves. If the rest of the men finished the work in 25 days, find the
number of men that had initially decided to do the work./ @f&Idl &1 & ad fHdt
&1 B 15 & § T H o1 fF=my wwar 2, 3% 398 & 10 afew sgufkia 8 oma 81 afg
Y HAfea ST 1 B 25 A1 & T HRd €, a1 Afeaal o G= R H feadt 02

1. 18 men/ 18 3fGH!
2. 25 men/ 25 3TGHT
3. 32 men/ 32 3fgHt
4.35 men/ 35 3!

Correct Answer :-

« 25 men/ 25 3McHT

22) Deficiency of Tocopherol leads to sterility in males and females. The popular word for Tocopherol
is 2 /AYPIhRrd o HH  goul iR afgarsh # Sigiu= &1 3R Srar 31 Srehia & fre
Mol g 72

1. Vitamin B/ fdeTf@= B
2. Vitamin K/ faetfim K
3. Vitamin E/ faeTfiA E
4. Vitamin ¢/ fae1fi= ¢

Correct Answer :-

« Vitamin E/ fdeTiT E



23) In PowerPoint, Good design determines:/ Uik wWrEe H, 331 fewmga fAuffea
HdT B:

1. Credibility/ fay@=igd

2. Readability/ Ta=gdr

3. First impression/ Ugdl UHTd
4. All of the above / Iudad Tt

Correct Answer :-

« All of the above / Iudad Tt

24) Which of the following will be the basic unit of the scheme Saanjhi? / s #
T AT TS T q THTS F9T T2

1. Constituency / JATa &=
2. Village / 9
3. Block / =T

4, Gram Panchayat / 1% 9919

Correct Answer :-
« Gram Panchayat / 319 999

25) Walking at 4/5 of her normal speed Aaradhya takes 2 hours more than the
normal time. What is her normal time?/ 3= ATHTI 7Ifd $t 4/5 7Tfa I Iad §C
SMRTAT YA ATAT FHY T 2 HeT 3fe IHY ddl 8, a1 ST ATHTY JHY 71 82

1. 12 hours/ 12 dcT
2.9 hours/ 9 dcT
3. 10 hours/ 10 deT

4. 8 hours/ 8 ©cl

Correct Answer :-

« 8 hours/ 8 ©cl

26) How much percentage of the cost of resources is provided as grant by the
Ministry of Tribal Development to the voluntary organizations working for
Scheduled Tribes in the non-Scheduled Areas? / i=-sIqg=a &= § A~ STASATIAAT
F orw 10 F 9T TAF IS B AT F AW HT Fhaar IAera st F1F G 1T g1
AT & &7 § g7 Srar g2




1.70
2. 80
3.90

4.95

Correct Answer :-

27) Who will be the Nodal Ministry for the implementation of Beti Bachao Beti
Padhao Scheme? / & FaT3 ST TRTAT TISAT & FIATAAA 6 (T ATST HATAT HIFET G2

1. Ministry of Health and Family Welfare / Tame=a 3T afaTe Feamor §a1ag
2. Ministry of Human Resource Development / ¥THa HaTER fashTe #3190
3. Ministry of Women and Child Development / wfgaT ta a1er fasme 531

4. It will be done jointly / g &3 &7 & T ST

Correct Answer :-

« Ministry of Women and Child Development / ®fg=T Ta a1t farshrer wamers

28) In how many years will Rs.25,000 amount to Rs.27562.5 at the rate of 5%
per annum when compounded annually?/ fpaq aul 4 Tu 25,000 B I 5%
I Iehgfs oI Ft G | W 27562.5 T A2

1.3
2.4
3.1

4.2

Correct Answer :-

29) Which statements about IPv4 and IPv6 addresses are true?/IPv4 3R IPV6
7d & IR § B9 9T HYF I &

1. An IPv6 address is 128 bits long, represented in hexidecimal./3TsUld! 6 dT 128 fae e

BT g, ot fob goarSdiaa § axifar wrar 21

2. An IPv4 address is 32 bits long, represented in decimal./3Tsutd! 4 Tar 32 fac de1 811 B,
o o Sftme § xifar wrar 21

3. Both of the above/ IWIFd gl



4. An IPv6 address is 32 bits long, represented in hexidecimal./Sﬂ'sLdTa‘T 6 a1 32 foe dar

grar 7, o fb YT diae & cifan S g
Correct Answer :-

« Both of the above/ IWIFd gl

30) What age-group of children is ensured free and compulsory education
under the Right to Education Act, 2009? / f:9F X fHamd a1 freT (sris)
srferfam, 2009 F SAia HIAY STY-avl & TG Bl 79 < Araara favar & sren?

1.6-12 years / 6-12 99
2.6-14 years /| 6-14 39
3. 6-15 years / 6-15 a9
4.6-18 years / 6-18 a9

Correct Answer :-

« 6-14 years/6-14 a%

31) Glycogen is often known as:/ TATI®IS P! JTHTAAT HET SITdT 8-
1. Animal starch / SI=q L]

2. Insulin/ S
3. Alginic acid / el 3T

4. Cellulose / @F‘?_\T“hﬁ

Correct Answer :-

e Animal starch / SI=q L]

32) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ f133: fFaff&d urg a1d &1 e gd® sreaa= HR A feu e wy &
IR difergl

Percentage of expenses on various items during book production and sale/

a® F Iaare 3N fyet # fafia wel w @ &1 ufe=e



Adwertising :umﬂ':lﬂ.___‘_‘_‘______‘_h\
wd, 18% P Bindingcosyl WETET

Boyalty cosy/ HER
T, 15%

Migeel laretut cast).
fafrr &, 7%

Paper cost/ TS WY,

T4

The ratio of expenditure on miscellaneous and printing cost are respectively:/

fafay siik fiifén @< W =g &1 =T rqurd @
1.1:3
2.1:5
3.3:7

4,2:5

Correct Answer :-

« 1:5

33) CANCELLED

A sum of Rs.295 is divided among A, B and C in such a way that A gets Rs.10
more than what B gets and B gets Rs.5 more than what C gets, then ratio of
their shares is:/ TUd 295 HI A, BdYT C # 59 d3g dicA1g % A F1 B § =ud 10 3ifiw
I g1 94T B @1 C | ©Ud 5 31U U g, af 31 3l &1 Srqurd @

1. 22: 20: 19
2.16: 17: 18
3.11: 14: 19

4,15: 18 : 13

Correct Answer :-

e 22: 20: 19

34) Which of the following had launched the Swachhta Udyami Yojana? /
TIoGAT SAHT ST T AT Fohae FoRaT?

1. Ministry of Health and Family Welfare / Tater Ua 9RATE FedTor G313

2. Ministry of Tribal Affairs / SESITAT 1§31



3. National Safai Karamcharis Finance & Development Corporation / T8 IS FH=T< O
e e e

4. Ministry of Urban Development / erg<T faema samera

Correct Answer :-

« National Safai Karamcharis Finance & Development Corporation / Tg H&TE 8= A
e e A

35) Emergency hormone is-/HBePHIA ST B-

1. Aldosterone/ Q@lﬁiﬁ

2. Parathormone/ ﬁwu”mﬁ

3. Adrenalin/ leﬁi?ﬂ
4. Thyroxine/ YRRITRI

Correct Answer :-

« Adrenalin/ TgIHeH

36) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fdxr: fFrafafaa uy & wsars e ?) F =M
TR T DI AT HI AT 2

340+17 8% 9=?
1. 425
2. 360
3.392
4.395

Correct Answer :-

« 360

37) Eshaan starts from his house and walks 10 km in South direction, then he
turns right and goes 6 km, again he turns right and goes 10 km and finally
turns right and goes 6 km. At what distance he is from his starting point?/

SR, 3T TR A YH3Td HRa § 3R 10 et gferor famm &t ok =eran 8, P ag g gear @
3R 6 fopH =rerar 8, 98 fp= ST goa1 & iR 10 fFH Iaar & 3R s ¥, ag Se gaaT @
IR 6 fortft Terar 81 98 orom URTAI® g A fpai gt w32

1. 8 km/8 Tt
2.10 km/10 fHHT
3.6 km/6 fHHT



4. At starting Point/URfR® fog R

Correct Answer :-

« At starting Point/UR®® fdg &R

38) A popular microbial insecticide is: / T ﬁR'QT&EI' H‘&Iﬁﬂﬂ'ﬂ ﬁz‘—mﬁ %
1. Candida / HEaT

2. Yeast/ TR

3. Bacillus thuringiensis / CINEL] gﬁﬁﬁﬁm

4. Staphylococcus aureus / RPBTAIBIahT 3RTT

Correct Answer :-

 Bacillus thuringiensis / CIRNR] %[F{@ﬁﬁm

39) Oxygen is transported in blood mainly by-/ Ydkd ¥ TR UE?I'IEF ST 8-

1. Leucocytes/ TP IATSC GRT
2. Erythrocytes/ EREISIECRAR
3. Blood plasma/ Ydd WITGHT gIRT

4. Thrombocytes/ YTHEITSC gRI

Correct Answer :-

« Erythrocytes/ SUSUTSC GRI

40) Which one of the following figures represents the relationship

among Carrot, Food and Vegetables?/ﬁ'ﬁlﬁﬁaﬁﬁ-m GHWTHFR, Yo 3R afesral
& ot Td) gray oY gufar g2

©

6
s
©



Correct Answer :-

41) What should be the population of a Rurban cluster in plain and coastal
areas? / AT ol TET &A1 & TIT FACSL I AATGT ThawT gIAT ATRT?

1. 15,000 - 30,000
2. 20,000 - 40,000
3. 25,000 - 50,000
4. 30,000 - 50,000

Correct Answer :-

- 25,000 - 50,000

42) When was the National Scheduled Castes Finance & Development

Corporation set up? / TgF sy~ sra faw va fawre e & e o B w=m?
1. 1989
2.1990
3.1991

4. 1992

Correct Answer :-

« 1989

43) To which of the following is the Hindu Succession Act, 1956 applicable? /
g STUigsrR sfa«aw, 1956 w5 & ¥ foha =Af<ral 9X AT graT 82

1. Jews / ST THTS & ST
2. Scheduled Tribe / g ST

3. Both of the above / 3=k =T
4. None of these / T4 | &I 7al

Correct Answer :-

« None of these / 98 & FTE LT



A is father of C and D is son of B. E is brother of A. If C is sister of D how is B
related to E?/A, CHI QT3 3R D, BHTYAGIE, ABTUTS 31 AfEC, D HI g8 al B, E
3 fpa yoR Adfia & ?

1. Sister-in-law/==¢/ y1Hl/are
2. Sister/dgH

3. Brother-in-law/ a3/ ST/ ITell

4, Brother/ﬂ-ﬂ'sc

Correct Answer :-
« Sister-in-law/ ¢/ yTHl/are

45) To create an interactive Pivot Table for the web, you use a Microsoft Office

Web component called? / 99 & foQ ge’faea fuaie arRolt s9 & o, sy
TS AISw N Jftew 99 UeH BT IUANT Hd 82

1. HTML/ g 3t W 3|

2. Pivot Table Field List / fUale aifernT wice it
3. Pivot Table List / f4dle dferr feree

4. Pivot Table Report/ fOdte arferes feard

Correct Answer :-

« Pivot Table Report/ fidie darfeer fkard

46) Under the Juvenile Justice (Care and Protection of Children) Act, 2015, in
case of a heinous crime the Juvenile Justice Board shall conduct a preliminary
assessment with regard to his mental and physical capacity if the child has
completed or is above years of age. / i< =mr (a1erai it @@ 3T HL&)
At aw, 2015 F ATATL TS ITAH 6T g IqT ITH ATAH T AT FhelT< =TT TS ol ST
FILTET T TTATRF Feri<or A7 g |

1.15

2.16
3.17

4.18

Correct Answer :-

- 16

47) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ f~éxr: fFrafufaa uy & wsars e ?) F =M



TR STHIT B HT HTT ST ?

450 x 9077717 = ?
1. 5200
2. 5650
3. 5803

4. 7255

Correct Answer :-

- 5803

48) Enterokinase is responsible for the conversion of:/FF g A 9 foad ufada %T:[ Qﬁﬂﬂgﬁﬂ
SXGTS BT &7

1. Trypsinogen into trypsin/ ﬁjﬁl:hﬁ:[ DI E’@F’f |
2. Pepsinogen into pepsin/ UfRHoH &1 UfkE |

3. Prorenin into rerin/ AR I &

4. Caseinogen into casein/ SRS B AT A

Correct Answer :-

e Trypsinogen into trypsin/ ﬁjﬁl:hﬁ:[ Cal @:@F{ |

49) Sonu scores 25% marks and failed by 15 marks, while another student
who scores 45% marks gets 5 marks more than minimum pass marks. The
minimum pass marks is: / '\‘ﬁﬁ[iﬁ 25% GWEITGT@?IT%H?JTEIE 15 Gl'c}?fﬁélﬂﬁ'uftﬁ
ST 8, SafP TP 30 BT FoT 45% 37 UI gia 8, Il g1 & e smazas <Had 3 3
5 3% AP 3 Ured Hear 31 Il g & e smavas gaw 3w 3

1. 40
2. 60
3.30
4. 50

Correct Answer :-

50) Which of the following is not a type of relationship that can be applied in

Access database: /370 I B9 T oY TR ST A ar] 8! fHar & o 3
1.0One to One / dd ¢ dd

2. One to Many / 9 ¢ O+t



3. Many to many/ ﬁ?ﬁgﬁ?ﬁ
4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iuad Tt

51) How many triangles are there in the figure given below? /d & Tt spfa o
Pryeit 3t T feadt 82

1.6
2.7
3.8

4.9

Correct Answer :-

« 9

52) Landscape is?/dS%PY &2
1. Page layout/Usl T3M3c

2. Paper size/ ®TRIN DI DR

3. Page orientation / BT BT IHHIDHUI

4. Font style/ i< et

Correct Answer :-

- Page orientation / BRI b1 IHHIHRU

53) Which answer figure will complete the pattern of the question figure? /g

T | B 3 IR Srpfa vy i & guf w2




Ve

4.

Correct Answer :-

)

54) The first number is thrice the second number and twice the third number.
The average of these numbers is 33. What is the value of the smallest
number?/ YYH ST §1d H&AT $1 foi[At & 3R i @I Ft SR 31 57 H=AT30 BT
3RTd 33 31 IS DI IBAT HT HTH FT 82

1. 18

2.21
3.27

4. 36

Correct Answer :-

55) Which of the following acts is included in the definition of domestic
violence under the Prevention of Women from Domestic Violence Act, 2005? /

T fEaT & wfger @weror srfafaas, 2005 ¥ siasta e & & wwar frar o 9T % samear # o aar
2?7

1. Insulting her for not having a child / sgT AT g1 3 HTIOT SATHTIAT FIAT

2. Harming her relatives to coerce her to pay for dowry / 385 % forT FeaedT Fd I 39

Freqamt &1 grie ag=m=T
3. Both of the above / 392 AT
4. None of these / =7 & s 7!
Correct Answer :-

« Both of the above / IUTI=F AT

Topic:- Grad_Managerial Skill



1) Which of the following is a primary group?/ 3H 9§ aﬁqwmuﬁmw%?
1. Political group/ ISHfa® THg

2. Factory/ el

3. Family/ gfar

4. School/faeme™

Correct Answer :-

« Family/ GRaR

2) A leader dictates to the members is known as a:/ mw‘rﬁgtﬂéﬁaﬁ ﬁ?IT/
Aqaepdl & Fed

1. Autocratic Leader/ fAR&=1 AT

2. Democratic Leader/ B difveld =dl

3. Laissez-faire Leader/ 3fg¥d&dl =dl

4. Professional Leader/ URIaR ﬁ?jc_dﬂo_cﬁ/ﬁ?ﬂ

Correct Answer :-

. Autocratic Leader/ MR Adr

3) The book leadership in voluntary organization is written by:/ GIEME S|
dreed) ATAESIRE WS e J fot 2

1. A.F.Zanderr/ T.U®. His
2. H.B.Trecker/ Td 4. EW

3. Brian O’ Connell/ ST 3N HHT

4. A.A.Livereiht/ T.Q. foaiie

Correct Answer :-

« Brian O’ Connell/ 919 3 pId

4) Bulletins, leaflets, circular letters, posters, fair, exhibitions, radio are the

media of:/ gafed, ud, ufvwz, Uer, AQ, el fea S wrew &
1. Public communication/ JTaui-e® TdR

2. Official communication/ 3MYHIRG IR

3. Group communication/ ¥Hg IR

4. Mass communication/SH IR



Correct Answer :-

« Mass communication/SH JIR

5) “The group with which the individual feels identified, the norms and
objectives of which he accepts”:/ “dg d¥g fore =safea sro=m a1 8, e ardst
3R I 24l B 98 WerRar 87:

1. Group based on compulsion of participation/ gHTRIAT ! STEAT TR TR THg
2. Reference group/ T REE

3. Group based on social class/ STHIN® T TR TR T

4. Passive groups/fAfsha 9ag

Correct Answer :-

« Reference group/ T qHqg

6) The community development programme aimed to socio-economic
transformation of rural people was launched on : / ATHIOT AT & eI
31t ufvads R aféra aqera faera srdww DI AR fomar T A

1. October 2, 1951/2 3fdR, 1951
2. October 2, 1952/2 3fdeR, 1952
3. October 2, 1953/2 3/dsR, 1953

4. October 2, 1954/2 3{aga, 1954

Correct Answer :-
« October 2, 1952/2 3fagsiy, 1952

7) Action-reaction interdependence in communication is called:/ JdR H forar-

wfafrar safiRaT @1 ®gd &
1. Credibility/ fayg-taar

2. Feedback/ ®lese (TAMHaM)

3. Message treatment/ Te< HAER

4. Fidelity/ g1

Correct Answer :-

. Feedback/ Bi8e® (TAMHARM)



By which year the millennium development goal of reducing world poverty by

half is aimed?/3f¥® AT &) geT S 3MeM FA & Hedled! fIpTH 98y o fryg adf a&
grive forar ST 82

1. 2020
2. 2015
3.2010

4. 2012

Correct Answer :-

« 2015

9) are characterised by intimate, face to face associations and
informal personal relationships:/ &1 SAFUTEUT B 3T, STHA-HTHA BT
STd qUT SAUTNS FfaaiTa T

1. Primary and Secondary groups/ Wuflis Td fgdiae wdg!

2. Formal and Informal groups / 3=y wd 3= “v'l@
3. Both of the above/ SWRI &l

4. Groups based /Iqg 3TYTRd

Correct Answer :-

. Primary and Secondary groups/ WfHi& Td fgdtae Tgg!

10) Communication is the subset of :/9OR DI IUTH=I %:
1. Diffusion/ IEESEU

2. Channel/ HI¥9H

3. Transmitter/ U8 (2THCR)

4. Receiver/ T di

Correct Answer :-

. Diffusion/ fagxur

11) Leader ship is a function of i/ ﬁaﬁ, BT UPTY B:
1. Group/ ¥§Hg

2. Individual/ Sf&RT

3. Category/ goft

4. None of these/ 3TH ¥ IS Tal



Correct Answer :-

e Group/ 9Hg

12) According to Berlo, the communication process has:/ gdl & SR, IR
wiemar T &

1. 6 elements/6 Ych
2. 4 elements/4 Uch
3. 8 elements/8 Uch

4. 10 elements/10 YUch

Correct Answer :-
» 6 elements/6 Ych

13) Community development projects were strated on 2nd of October, 1952,
then the number of blocks initially covered was :/ dYar™a faor

IRAISATY 2 ey, 1952 B JRTH P T F| I THY ARW A HaR A T Tl A
germ_

1. 45
2. 55
3.65

4.75

Correct Answer :-

14) Social mobilisation also reflects changes in society, such as:/ LIGNGED Ycrd

AT & ufvad= ot wfafafiaa o g, o
1. Urbanisation/ R8Il

2. Industrialization/ KIEIRICACR]

3. Both of the above/ SWRId &l

4. Social stratification/ ITHIS TR0T

Correct Answer :-

» Both of the above/ IR g



During the first five year plan, the highest priority was accorded to i/

Ugell Uaquta Ao $ R, & gt wdfiearn & it
1. Agriculture/ $TY

2. Industries/ SN

3. Defense/ &

4. Commerce/ S

Correct Answer :-

. Agriculture/?ﬁf

16) Leadership is the product of :/ Aqa P IATE o
1. Position rather than knowledge/ 39 &1 §9 UG

2. Knowledge rather than position/ g &1 SS9 34

3. Position alone/ $ad Ug

4. Knowledge alone/&dd I

Correct Answer :-

« Knowledge rather than position/ Ug &1 SSIid I

17) An outstanding of the role of the local leader is to: /G Ad1/Aqa@®dl 3t

TP IR YRS R

1. Good communication abilities/ 38! TR TRGATSHl F Gard BT
2. Authonatative/3MfEeR-gad g

3. Aggressive/ IhTHD EﬁﬂT

4. Partial/U&rdrdt g1

Correct Answer :-

« Good communication abilities/ 3/t TR ArFFarsfl A god gl

18) Development of leadership is:/ ﬁﬂﬁ &1 fa@or, &
1. A means in programme buiIding/W fafor o Udh 1Y+

2. An end in programme building/ HHH 0 &1 TF 3 (BR)

3. Both a means and an end in the process of programme buﬂdmg/Wﬁ'ﬂfUTaﬁ
ufrar B T W1eA SR Ud 3, gl



4. Neither a means her an end in the process of programme building/Wﬁ'ﬂfUTﬁ
gferar & 71 < WIeM R 7 8 3

Correct Answer :-

« Both a means and an end in the process of programme buﬂdmg/Wﬁ'ﬂfUTaﬁ
uforar B T W1eA SR Ud 3, gl

19) A professional who influence innovation decision in a direction deemed
desirable by the developmental agency is : /faera woifY gRT gifesa At
TRt fe=m § Tavad & fAvla &t guifad s aran u=eR BT 8

1. Innovator/ Tavdade

2. Opinion leader/ Hd W

3. Change agent/ URaad- 3ifiesdf
4. Group educator/JHg 1&g

Correct Answer :-

« Change agent/ aftadq 3fiedf

20) CANCELLED

By which of the following year the targets aimed under Bharat Nirman is to be

achieved?/4Rd fAafor & @eal &t 5 af 9 s1fdra forar s 82
1. 2008
2. 2009
3.2010
4.2011

Correct Answer :-

« 2009
21) Community development project was started as a result of 1/
TYera faera ufvate n F UNUTIRGEY R™ ot T H-

1. Royal commission report/ Jad HHRE o1 KU

2. GMF enquiry committee report/ GMF Sirg Ififa &t faré
3. Educational commission report/ fRiaf 3TN P fRard

4. Nalargarh committee report/ 9l Tg gfufa &t faid

Correct Answer :-



« GMF enquiry committee report/ GMF Sird IfHfa &t faid

22) The entire nation was covered with community development programme
by the year : /a4 TP Q¥ P D YYGIA I SRIHH FRT PR o foran
™7 4T:

1. 1955
2. 1958
3. 1964

4. 1968

Correct Answer :-

23) Campaign postcards have been found to be very useful communication
material in getting attention and positive response from the villagers in

special campaign. The reason being:/ faRiy srfirari # yrfion &1 warTe it #e
wwmmﬁmmmmﬁwmm@%m
DRI &:

1. Villagers are used to the notion of post card communication/ Ul TReHTS TR B
YRUT & 3T &

2. It is an open letter read by many,they feel proud/ dg il LERAGII % fora ﬁ?ﬁ'ﬂqﬁ%,
I Td BT 3HT BT &

3. It gives a personal touch to the communication method/ I8 TaR faf¥ &I T fdaTd
= AT §

4. It is a traditional one/dg U URAN® %

Correct Answer :-

« It gives a personal touch to the communication method/ g IR fafer &1 T Afeaa
wosf 3T ®

24) Mention which is the efforts against fragmentation an example?/ §a¢ f&

g0 9 o, faavea & 9o g™y &1 IS8 82
1. Socialization/ JTATSIIEGOT
2. Social movement/ ITHINIG T<reT

3. Acculturation/ TREIH TGl
4. Disorganisation/ fagTad

Correct Answer :-



. Social movement/ ITHING 3{T<reH

25) Communication is the process by which messages are transferred from

source to:/ TAR e UpAT e PRI gRI TGS AT T __ &) Ugad o
1. Channel / HT&9H

2. Message/ﬁ@ﬁf

3. Receiver/ UTadi

4. Effects/ UHId

Correct Answer :-

. Receiver/ UTEddl

26) The term group is used to describe members who are alike in
their status or positions in the class system of society:/ Reg 3l

ST T Yo o1 quiq H39 & e fpar srar @ <t gwrer # oot fRufy (3fRrae) ar anf
qouel # 394 ug § JHT &

1. Vertical group/ Go‘"?ﬁﬂﬂjs’

2. Horizontal group/ aﬁﬁﬂ%
3. Linear group/m JHg

4. Diagonal group/ ﬁEb‘UTFIﬂ:s’

Correct Answer :-

« Horizontal group/ ?Fﬁlﬁﬂﬂ:s’

27) Communication when it is impeded and does not reach the receiveris
often known as:/Sd HOR ST 81 W4T @ 3R Weddd! 9o el ugdm a1 urd: 39
ﬁ?f %

1. Ineffective/ 3gYTAY
2. Misinterpreted, Trad 31 fAsTemT
3. Barriers/ &1

4, Effective/UHTdl

Correct Answer :-

e Barriers/ 91Ul

28) A person who actually initiates the action in the community is 1/

TYera ¥ aaq H &1 R HA arar aafed Fgard &



1. Professional leader/ URIaR ﬁ?jc_d’av_rﬁ
2. Assured leader/ 3T¥& Ag@ddi

3. Operational leader/ aTeH Addddl

4. Popular leader/ AU ﬁ?ﬁﬁh—cﬁ

Correct Answer :-

. Operational leader/ dTa Al

29) Bulk of group specific and area specific rural development programmes in
India were initiate during :/ YA ¥ Oz fafly wd & fafy o oo
Srdwal § F it F IR IR frd T 2

1. Second five-year plan/ Gax! UGasd Ao
2. Third five-year plan/ da<t daadifg e
3. Fourth five-year plan/ @l U=rasifa i
4. Fifth five-year plan/ Uradl deradfa g

Correct Answer :-

. Fourth five-year plan/ It taadfa aiemr

30) To encourage initiative, the responsibility should always be coupled with

corresponding:/ Ugd $! UiHTed @31 & (A, ITRSIUQ P 1Y Hed AW RUd ot
3-1=IT/=ﬁ il'l'%'l'{:

1. Organisation/ I&
2. Authority/ ISR
3. Power/ Xifad

4, Control/fAg=rmT

Correct Answer :-

« Authority/ UTfI®HR

31) Out of group attitudes are marked by:/ ‘H’l{s"\ﬁ e (3M13E ATE JUu)” I3 Y
UEdT -

1. A sense of differences/ 3Rl & JAH
2. Some degree of differences/ $& HIHT ddb 3R
3. Mutual interest/ TRERS 3f

4. Conflicts/ﬂﬁﬂ?{



Correct Answer :-

. A sense of differences/ 3Ri PI JHS]

32) Mention how a contact farmer can be considered as:/dTdT 8 {6 &4 Srgafea
feara =t AT ST €T §:

1. Opinion leader/ Hd ﬁ?jc_dﬁb_cﬁ

2. Professional leader/ URaR ﬁ?jc_cl?b_cﬁ
3. Official leader/3MRGIRG AJadmdl
4. Lay leader/3idIférd Aqaddl (o dieR)

Correct Answer :-

« Opinion leader/ Hd W

33) Family can be viewed as:/ URdAR &I & ¥q # ¢@T o1 TP 8:
1. Permanent functional institution/ Y srafds T

2. An effective association/ Tdh YTt miltf

3. A secondary group/ U& fgdia® aqg

4. A primary group/ WWWW

Select the right answer/Jg! SR g?r

1.1and 2 only/W 1 3R 2

2.1and4on|y/mlsﬁ'€4

3. 1,2and4on|y/%ﬁl,zéﬁi4

4.1 and 3 only/m 1313

Correct Answer :-

« 1,2and 4 only/ $ad 1,2 3R 4

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./
fdr: Fafafad e #) aryde tear 3ud A @3 1 sglawal uxal & 98t fawe o1 a9
2yl

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management
adopts an effective media and network of communication. To make it



effective communicator must possess certain quality’s, understand the
receiver, convey the message and get to act on it. Practical experience in the
field makes both the center and receiver to reach perfection. Communication
translate organization information into the language commonly understood in
the organization. lack of feed-back ,interaction and effective decoding of signs
or words into receiver capability are the important problems in
communication. But they do not later the basic essential for successful
communication. Wilbur Schramm has suggested for any communication to be
transmitter effectively from source to receiver, whether the source is
personnel or non-personnel, the message must need the following three
requirements:/

TR BT MY Se=9 AN &) i @1 81 TR T YRS, & avwT

TG T ITHTS UfhaT 31 3/ JSATP gl Bl Aar H-1 A1l 3/ Fa H &
fore, ye=M TUR &1 TP UHTH! HTEHH TE Acas UATdT g1 39 YU 991 & fore, dareat
& UTH P VT B AP §, S Uhd! &I JHFAT, S VST 3R IT R HeH 3591
39 &5 ¥ SATqeTiv® U4, Uu® 3R Wrwdal, -l &t ufvyular 9@ ugardr g1 W9R, WIed
B TSR BT 3aTG, T | AR W FHSH W= arelt yrer & wear g1 ufagfd,
S=IfehdT TUT UTWThd] I &HAT § Haodl IT Vel & YHTA STHIST BT 3HTd, TOR Bi
Heayul YHETE &1 R d Ghd TR B MURYJ MTaaHdl &I ufvafdd 781 sl 31 faaar
ThTH A JmaT g o T 918 +1fe gt a1 iR-w1fie, fadt off Tur &t wia @ wraedt 9o
TUTI! & | dafvd g4 & e dexr g1 FHwifea @9 smazgwarsii ot gfd aw=t &:

1. It must be so designed and delivered as to gain the attention of the

;gver../wmmmmmﬁ%mam@mmm
|

2. It must use signals that are understood in the same way by both source

and receiver./39H T Hhdl BT IUUNT g1 AT g Wd T Ut Sl JHE <1 9
qHE

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’'s group situation when moved
to make that desired response./ﬁ%mmﬁ ARG dT I il A1 ey 3R
ISP GRT 3 MaADH TSN B Yfed BT HIg OFT DT AT AT AT N, 98 qifesa ufafspar
A F o Uiva fore o W, urasal & T9g F foe Suge 3|

The primary purpose of communication is to keep people /AR BT

WUfe IR AN Bl TG &
1. Informed/ ﬂﬁﬁ
2. Non-informed/ 3/ gfad

3. Announced/ BILG]

4. Authorized/ 3 d

Correct Answer :-

. Informed/ qfoid



2) DIRECTIONS: Read the passage and answer the questions that follow./
. Fafafad T #) aryde teer 3ud A4 23 1 sglawal uxal & 98 e o1 9w
B

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management
adopts an effective media and network of communication. To make it
effective communicator must possess certain quality’s, understand the
receiver, convey the message and get to act on it. Practical experience in the
field makes both the center and receiver to reach perfection. Communication
translate organization information into the language commonly understood in
the organization. lack of feed-back ,interaction and effective decoding of signs
or words into receiver capability are the important problems in
communication. But they do not later the basic essential for successful
communication. Wilbur Schramm has suggested for any communication to be
transmitter effectively from source to receiver, whether the source is
personnel or non-personnel, the message must need the following three
requirements:/

TR BT WU 22T AN &) g I@1 81 TR T URNR®, & avwT

T4 el TS UfhaT 31 32 JTSATeP gl Bl qar H-11 A1l 39 Fa HA &
oI, U= IR BT T YHTA ATHH UG Acad U1l 81 59 YU 9911 & fore, saredl
& U PO U1 811 ISP &, 94 UKIpdi B THSAT, T AT 3R IT R $HeH IsaHT|
9 &F ¥ ATGI® Y4, WP 3R Urawal, gl &1 ufkquiar 9 ugardr g1 99R, e
B TSR] BT AT, W | AR TR FHSH W= areit yrer § Fear g1 ufagfd,
SAfhaT IYUT Ul ®t &HaT § Hbdl a1 Gl S YUTH STHISH BT 3UTd, TR B
Tgcayul TUTE &1 IR 9 I6hd GaR P AMURYT MaaHdT i ufvafdd et @edt g1 faaaw
THTH A GHATT g O Taid arg Sifde gt a1 R-Fride, fedt ot Sar # 9 S urasdat 9@
TUTI! &Y | Ja1fvd g4 & e Hexr g1 FHwifea @9 smaxgwarsii ot gfd a3t &:

1. It must be so designed and delivered as to gain the attention of the

;gver../@mmmmw%mﬁ%ﬁmﬁﬁ?ﬂavﬁ?mm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Hhdl BT IUUNT g1 AT g Wd T Ut Sl JHE <1 9
qHE

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./wﬁ?mmﬁ TG h dl Wﬁ'—ﬁ iIT%E 3R
ISP GIRT 37 ATAAHATSH Bt el BT B3 TAT AR 1D GHATIT ST A1 8¢ ol, 98 difedd ufafear
oA & forg afva fovg o1 R, wraasat & |9 & fore Suga 8|

Both the sender and receiver to reach perfection what kind of experience

relevance:/ f® TSR ®1 3rgHa, T 3R Urasaf, a1 ®1 aRvgular 9@ dgarar g2
1. Theoretical/ ¥GIf<®

2. Practical/ STagTR®

3. Informative/ Jdd¥aq



4. Subject mater/favg-a¥g

Correct Answer :-

« Practical/ TdgIR®

3) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁi'!Zr:
Fafafad Teiw & aFyde yees 3Ud A A T agfased! uxEl # 98 fAwe 1 99 S

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR BT MU Se=9 AN &1 e I@1 81 TR T URURS, & avwT

T4 el ITHTS UfhaT 31 32 JTSATP gl Bl Aar S+ T1fel 3/ gia # &
fore, ye=M HUR &1 TP UHTH! HILHH T Acad UTdT g1 39 YU 991 & fore, dareat
& UTH P VT 81 AP §, S U] &I JHHAT, S W1 3R IT R HeH 3591
39 &9 § qeTiv® gHd, Uud 3R ureddl, gl b1 URyuiar 9@ ugardr g1 I9R, I
B TSR BT 3aTG, T | MR W FHSH W= arelt yrer A &ear g1 ufagfd,
S=IfehdT TUT UTWThd] I &HAT § Haod! UT Vel & YHTA STHIST BT 3UTd, TOR Bi
Tecayul TUTE &1 IR 9 T6hd HaR P AMURYA MaaHdr it ufvafdd gt @wdt g1 faaaw
ThTH A JmaT g o i 918 +1fe gt a1 iR-w1fe, fadt off ¥ar &t wia @ wraedt 9o
TUTA! & | dafvd g4 & e wexr g1 FHwifea @ smaxgwarsii ot gfd a3t &:

1. It must be so designed and delivered as to gain the attention of the

;gver../@mmmawﬁamﬁ%mﬁﬁﬁm@%@mmm
|

2. It must use signals that are understood in the same way by both source

and reégiver./wﬁ@ﬁﬁﬁwmﬂmﬁ%@ﬁam,ﬁﬂ'ﬂ'ﬁé’ﬂﬁ

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’'s group situation when moved
to make that desired response./mmmﬁ STaRgHdT I -l A1y 3R
ISP GRT 3 MaAH TSN B Yfef BT HIg U1 DT GHAAT AT 19T <N, 98 qifesa ufafspar
A & e Ufva fre o W, urasal & T4g & foe Suge 3|

The important problems in communication are:/ AR ! Agayul JHW 3:

1. Lack of feed back/ Uidgf¥ &1 31uTd



2. Interaction/ 3f=dfspar
3. Effective decoding signs or words/ Hhdl TT Xeq] BT THTAT Sihied
4. All of the above/B'CléTﬁ papty

Correct Answer :-

« All of the above/B'CI“{ITﬁ Tt

4) DIRECTIONS: Read the passage and answer the questions that follow./

fd=n: Fafafaa T @ eaFyde tees 3ud R Y T sgfawwd uxMEl & 98 fawe &1 999 &3

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR BT WU Ie=T AN &) i I[@E1 81 TR T YRS, & avwT

T4 Teq TS UfhaT 31 32 JTSATP gl Bl qar S+ TIfe¢l 39 Fia H4 &
oI, U= IR &1 U YHTA ATSHH UG Acad U1l 81 59 YU 9911 & fore, saredt
F U B U1 811 ISP &, 94 UKIpdi B THSAT, TS AT 3R IT R $HeH IsaHT|
39 &5 ¥ SATaeTiv® U4, Uu® 3R Wrwsdal, il &t ufvyular 9@ ugardr g1 99R, §IeH
B TSR BT AT, T | MR TR FHSH o= areit yrer & FHear g1 ufagfd,
SAfhaT TUT UTWIhd! ®1 &HdT § Hhd! a1 WAsg! & YUTA! STHIST BT 3(HTF, TAR Pt
Tecayul TUATE &1 IR 9 I6hd GaR P AMYRYT MaaHdT Bt ufvafdd et @wdt g1 faaaw
ThTH A gt g o Wi are +1fife 8 a1 R-w1fife, st ff Tar & wia @ wraedat 9o
TUTAT &Y | da1fvd g & e Hexr g1 FHwifea @9 smaxgwarsii ot gfd a3t &:

1. It must be so designed and delivered as to gain the attention of the

;gver../@mwmswﬁamﬁ%mﬁ%ﬁmwm%mm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Hhdl BT IUUNT g1 AT e W T Ut S JHTE <1 9
qHE

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./wﬂ?mmﬁ TAGh dT B‘ctﬁlﬁ'—'ﬁ iIT%E{ 3R
ISP GIRT 37 ATAAHATSH DI el BT BIS TAT AL 1D GHATIT ST A1 8¢ ol, 8 difedd ufatepar
3 & e Ufva fpe 9 R, wraedt & Ta9E ¥ e Suge 8|



Communicationis a __ proses:/ IR &% ufspar g:
1. Reciprocal & two-way/ URWR® Td GlaRwl

2. Two-way/ SIaR®T

3. Continuous social/ Idd ITaTSEH

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iuad Tt

5) DIRECTIONS: Read the passage and answer the questions that follow./

féen: Fafafad T @ eaFyde Tees 3ud R Y T sgfawad uxMEl & 8 fawe &1 999 o3

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR BT WU Se=T AN &) g I 81 TR T RS, & avwT

TG dq ATHTIS Ufhar 81 39 WS-TdH® a&gsil B Aar S arfeu| 39 g1id o1 &
foTe, ye=M TR &1 TP UHTHT ATEH T Acae UATdT g1 38 UHTS 994 & forg, Saredt
& U $O T Bl TaRAP &, O UThdt bl FHSHT, TS AT 3R I9 W HeH Iaar-I|
39 &9 ® aTaeTiY® rgua, Uud 3R urwwmdt, a1 &t ufvyular 9@ ugardr g1 IR, I
Pt TP BT AT, TS A MHAR W A A arelt T # Hwar g1 ufayfy,
Sr=IfshaT 9YT UTwdd! Pt &HdaT | Habdl dT WG| & YU SIS BT HTd, HAR Pt
Tgcayul U &1 IR 4 TG GaR P AMYRYA MaIHdT Bt ufvafdd et sedt 8l faaaw
THTH A g1 g fF Ttd arg 1ffe 8 a1 R-wrife, fed off TR & &9 @ urasdat 9@
TUTA &7 | dafva g1 & foe dewr g1 Fwifea @9 smaxgwarsit ot gfd a3t &:

1. It must be so designed and delivered as to gain the attention of the

ﬁver../@mmmmm%mﬁmwmmm
|

2. It must use signals that are understood in the same way by both source

and receiver./39H TH Hardl T IURT g1 A1feT forg Hid 9 urtaesdi, <1 9= &7 3
LEECE]
3. It must arouse needs in the receiver and suggest some way of satisfying

these needs that is appropriate to the receiver’s group situation when moved

to make that desired response./39® gRT UTKHd! A ATaRYHdT 3T g1 I8¢ 3R



AP GRT I MAADH AT B Yfd BT HIg U1 BT GHATAT AT AT SN, 98 qifesa ufafspar
A & e Ifva fore o R, uraeral & T9g & foe Suge 8|

Communication needs both____ :/ ¥dR Ca = iIT%’QI
1. Source and receiver/ Hid Td Ui

2. Communicator and receiver/ SRl Ud U dl

3. Source and signal/ |id Td dovd

4. None of the above/ I0dad & ¥ @I 81

Correct Answer :-

« Source and receiver/ I9id Td YTt dl

6) DIRECTIONS: Read the passage and answer the questions that follow./
= Fafafaa T $ argde yeer Sud T @3 T sgfawed uxEl § 98t fAwe &1 999 w3

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

AR BT Wi Ie=G alN &) g ¥@1 31 9aR Th URT¥®, & aewT

T4 T TS UfhaT 31 31 JTSTeP gl Bl Jar S+ a1fe¢l 39 Fia HA &
foTe, YoM TR &1 U UHTH! ATEH T Acad UATdT g1 38 UHTS 994 & forg, daredt
& U PO U1 811 ISP &, I UKpdi B THSAT, T AT 3R IT R $HeH IsaHT|
39 &9 ® auTaetiY® rgua, Uud 3R urwwdt, a1 &t ufvyular 9@ ugardr g1 IR, s
Pt TSR BT AT, TS A MHAR W AN 4 arelt HruT & Hwar g1 ufayfy,
3r=dfshaT TUT UTWhd] I &HdT | Hobdl UT Mo & YHTA SIBIST BT U, IR BI
Tecayul Y &1 IR 9 TG GaR Pt AMYRYT MaIHdT Bt ufvafdd et sedt gl faaaw
ThTH A gmar g fr i arg +1ffe 8 a1 R-w1fife, et ff TurR & wia ¥ wraedat 9o
Tt 9 & "o g4 & g Wew g1 fFifea 69 smazgwansit @1 gfid o=t 3

1. It must be so designed and delivered as to gain the attention of the

ﬁver../@mmmmm%mamwm%mm
|

2. It must use signals that are understood in the same way by both source

and receiver./39H T Hhdl BT IUUNT g1 AT R Wd 9 Ut Sl JHTE <1 9



HHEA B

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./mmmﬁ STAFHAT I gt il'l'%lz 3R
ISP GRT 37 ATAADATSH DI el BT BIS TAT AL 1T GATAT ST A1 8¢ ol, 98 difedd ufatepar
3 & foe Ufva fore oM W, ureaedt & I9E & fore Suge &)

should be appropriate to the receiver:/ U dt & ﬁl‘l;f SUgdd
g1/t =nfee:

1. Communication/ TR

2. Interaction/ 3f=ifshar

3. Information/ a1

4. Subject matter/ ﬁm—aﬁ

Correct Answer :-

« Communication/ ¥dR

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fdxr: Fuffaa e & eaFyd® tea 39 T A T sgflawadt wz=i & g
faweu &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large nhumber are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ARG B 3% fe glaurs e WAl W J91¢ yerH F1 & fI¢ G- vd =R
WISl (ICT) &1 UG dear o1 ¥eT 81 T ICT Sy ANTR® &1 3-1d Tial A &



T el (S e RIRE, g WY, Iy, ST Td AR fIUnT) B Jarg o
P & T B 21 T SFUANT dgar U fPwradt sAfeefadt aur werHor g U= A
# ICT &1 SUANT $d 1 B8 WPR-ANING (G-C) -Ta-Ae¢ urgae uRarersi 3 ugd
e, 3MUR ¥ i HA, THHUI ANl I YATH H1, URSIRIAT T, 3R Th JHY U &
fore == tenfifeal &Y e &1 yary frar 21 urere uivaise & v § I §-Taide
IV Bt TP T I falra & wft @ &t Arive Jarsit 9% JRd ugd ueH e iR
WPHR-ANNS HGGR] P YHHUI B gaX T4 W Afad A9 F $S 7 S=RIEHE W T
AT fHar § 3R 3ot Tauad—eR ugfaal & fore ufaffd ReeR o §1 317 arfior
< # 1cT I ofda St @ ok 3% | E-Tra-Ae ufvaie T srai-aad & fou g
Aisdl & U H @1 91dT 21 5799 A i ufvaierse 7 ge3ae M # oo ik
PC 3 ANl # FHI $ R VI a% Uga & ¥R & FU F W7 31 T I8 dAfaeradt
T & dR W Wil gREdR e 3R ISP & SNT §ex-e Ugd &1 SUdhT &dt g1 354
areior MEH F Y 9w GHT SHSR @Y, ISP A 98 PC smurfya frae! & Wity te
THd Ugd g & &u A b $e- 31 w4y a1 31 7o uRaierseh 3 ggr ==l @ g
& fou arRay Menfiat & a1y wa fear g1

Expand ICT:/ ICT &1 [T 919 §:

1. Information Communication Technology/ SHIHRF HRFGRA cararst (LT TR
TreNfieT)

2. Integrated Communication Technology/ Sc¢Rice HRMHIH caHars (Fafdbd IaR
PIBLE))

3. Implied Communication Technology/ SWTES HHIAHTH carrars (Tfd TR WrenfieT)
4. Internet Communication Technology/3e3Ac HRIFG I THId (Fexe TR W)

Correct Answer :-

« Information Communication Technology/ swﬁm# cbl-gﬁabbalﬂ RIS (AT IOR

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: fFafafad Teriw o caFgds g Sue 1 33 T4 sgfasadt uz=i o wg
fawey &1 999 B

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large nhumber are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in



rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WRBRT gRT ANNRS! Bt 39 fre Jiaurere = i) a1 e #31 & fe G- vd Tur
WISl (ICT) &1 UG dear o1 ¥eT 81 T ICT Sy AFTR® &I 391d Tial A &
F=g wEifRyEl (S R TR, el 99, I99, Y Td TRBRY fAUnT) $ Jarg o
B P YA YA 81 T SN dgar Ud frwrad) SAfaefad! aum wshaor aurar i1 a4
# ICT 3T TGN FRd &1 $§ WPR-ANNSD (G-C) -G e urgae uiRare-raii 3 ugd
o, YR ¥ gfg HA, THHUI ANl I YATH H1, URSRIAT T, 3R Th JHY UM &
fore == tenfifeeal &Y o= &1 yary frar 21 urgere uivaisre & v § g §-Taide
VAT P TP TS YT fafrd & Tt & & Aie Jarsit 9% JRd Ugd ueH A iR
WPR-ANNS HGGR] P YHHUI B gaX T4 W Afad AIT9 F $S 7 =RIEHE W TN
AT fHar § 3R 3ot Tauad—er usfaal & fore ufafyd ReeR o 81 317 arfior
< & 1CT 9 Tfda it & iR 5% Widt $-wa-Ae a1 Sraf-gaa & fag g
Aisal & ©u d 3@ 9rar 81 379 A itz ufvarernsit 3 gevqe meanfie # fawr sk
PC 3 ANTdl # FH $ YR WIFI a% Uga & R & U F W 31 T 9 dAfaefadt
IHTYE & R W Hiel RUaR o1 3R ISP & WY $ev-e Ugd &1 U Hed! g1 Sl
o TRIT & fIT 9aRa JYT TSR B, ISP | 3 PC snutid feaes! & wfve to
THd Ugd fog & &0 A b o 31 vary a1 31 7o uRaierseh A ger ®HEl @ uga
& foe arara MmNt & a1y wah foear 31

ICT applications attempt to offer the services of:/ ICT 3F;[§I'€ﬁ1'l 4| '\ﬁT:ITl'{
U1 H BT TATH I 8-

1. Central agencies/ Do ToIRl

2. Social agencies/ TSI Toirerdt
3. Economic agencies/ e Q@fﬁﬂff
4. Political agencies/ NSEIRED Eﬁﬁlﬁf

Correct Answer :-

. Central agencies/ =<4 TSl

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FaffEa e & eaFyd® tea 39s T A T sgflawadt uz=i & W&
faweu &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government



pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large nhumber are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ARG B 37 fw glaurs e WAl W J91¢ UeiH $1 & FI¢ G- vd wur
WSl (ICT) &1 UG d¢ar o1 ¥eT 81 ITHUr ICT SyaT AFTR® &1 3-1d Tial A &
F=g Tl (S e u=rae, el WY, 354, $g v TRHRT fIUnT) F Jarg o
P & T B 21 T SFUANT dgar U fPwradt sAfeefadt aur wraor g U A
# ICT &1 SUANT $Rd 1 B8 WPR-ANING (G-C) IF-Ta-Ae¢ urgae uiRarerrsit 3 ugd
e, 3MUR ¥ gfg FHA, THHUI ANl I YATH H1, URSRIAT T, 3R Th JHY U &
fore 5= tenfifeal &Y o= &1 yary frar 21 urere uivaisre & &9 § I §-maide
WA Pt T T T fyfra Ft 7t @ St A Yarsii 9@ Wve UgT e 31 3R
WPR-ANNS HAGRI P UHHUI B gaX T4 W Afad A9 F $S 7 S=RIEHE W TR
AT fHar § 3R 3ot Tauad—eR ugfaal & fore ufaffd ReeR ot 81 317 arfior
< # 1cT P ofea gt @ ok 3% |l E-Tra-Ae ufvaieHT srai-aed & fou g
Hisdl & U A 3@ S1dT 1 599 A iy ufvaieErs 3 eae M) # faer oiv
PC 3 ANl # FHHI $ YR I a% Ugaq & aWR & U F W7 31 T I dAfaeradt
T & R W W@l gREdR e 3R ISP & NT §e3e Ugd &1 SUdhT odt g1 354
yreior MEH F I g GHT SHSR @Y, ISP @ 98 PC smutfyd frae! & Wity te
THd Ugd g & &u A b o 31 varw a1 31 7o uRaierset A ggr ®Hl @ uga
& fou arRay Menfiat & a1y wan fear g1

have attempted to adopt to improve technologies:/ q dER
wrenffeal @ s &1 v forar 3

1. Firka project/ fiorenT ufRdierT

2. Government pilot project/ TR&RI UrdC GRISHT
3. Srinikethan project/ fifyor e afarsHT

4. None of these/3TH q ®Ig gl

Correct Answer :-

« Government pilot project/ TR®RI TIAC TRASHI

10) DIRECTIONS: Read the passage and answer the questions that
follow./ féz: FafifEa e & oM yd® tes 39 - f3d T sgfawadt uxei o &t
fawea &1 999 B9



The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WERI gRT ARG B 3% fe glaurse R W J91¢ UerH F1 & fI¢ G- vd 1R
WSl (ICT) &1 UG d¢ar o1 ¥T @1 T ICT SIyaNT ANTR® &I 3-1d Tial A &t
g el (SR forar wRIE, SEeil 1Y, 59, T Td IRBRY fAUTT) 3 Farg o
B P YA B 81 T YN dgaR Ud frwrad) SAfaefadt aum wshaor qurar o= o
# ICT FT UGN Fd &1 $§ WPR-ANNS (G-C) F-Ta-He uraae uiRarsraii 3 ug
e, AMUR A giF HA, WhHUT ATl DI gAqH B, TRSRIAT 98, 3R Th T 9e &
fore =9 tenfifeal &Y = &1 yary frar 21 urere uivaisre & &9 § I §-Ta-ide
SUEN B TP IS T faspfa @1 7t @ St Ay Jareii 96 TR wgd UgH w3 SR
WPHR-ANNS HGGR] P YHHUI B gaX T4 W Afad A9 F $S 7 S=RIEHE W TR
AT YT fHar § SR Ut Tauad—eR ugfaal & fore ufaffd RepR ot §1 319 arfior
< # 1cT F ofda St @ ok 3% | E-Tra-Ae ufvaie T srai-aad & fou g
Aisdl & U § @1 Sa1 21 590 § iy ufiaierred 7 sexae vafie § faer ok
PC & arTal # S 3 Ygr RITI 9% Ugdd & GO & U § 3@ 81 3 I PAfaefad
IHTY & R W HiEl RUAR o1 3R ISP & WY Sev-e Ugd &1 Ul &ed! gl S5l
areior MEH F Y 9w GHT SESR @), ISP A 98 PC smurfyd frae! & Wity te
THd Ugd fog & &0 A b o 31 vary a1 31 $© ukaierset A ggr ®Hl @ uga
& fou arara MmNt & a1y wah foean 31

ICT models for future project implementation:/ yrdt LIELIEE]
Praftggq & fore ICT Afsa:

1. E-government/ g-Td-Hc
2. E- panchayath/ 3-Uamad
3. E-journal/ -SRAd

4. ICT

Correct Answer :-



. E-government/ s-Ta-Hc

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fdxr: Faffaa e & eaFyd® tea 39& T A T sgflawadt uz=i & g
faweu &1 999 B

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ARG B 3% fw glaursHe Rl W J91¢ UerH F1 & FI¢ G- vd 1R
Wffeal (ICT) &1 UG dear o1 ¥T 81 T ICT SIyaNT ANTR® &I 3-1d Tial A &t
T el (S e =IE, g WY, ISy, ST Td AR fIUnT) B Jarg o
P & T B 21 T SFUANT dgar U fPwradt sAfeefadt aur wmHor g U= A
# ICT &1 SUANT $d 1 B8 WPR-ANING (G-C) -Ta-Ae¢ urgae uiarersit 3 ugd
e, 3MUR ¥ i H, THHUI ANl I YATH H1, URSRIAT T, 3R Th JHY U &
fore =9 tenfifeal &Y o= &1 yary frar 21 urere uivaisre & v § g §-aide
WA P T Tt T il Ft 7t @ St A Aarsii 9@ e UgT e 31 iR
WPHR-ANNS HGGR] P UHHUI B gaX T4 W Afad A9 F $S 7 S=RIEHE W TR
ATTHI f5ar 8 3R 3ot Tauad=eRt ysfaal & foe ufaf¥a Reer s &1 g8 arior
< # 1cT F ofea gt @ ok 3% | E-Tra-Ae ufvaieHT srai-aad & fou I
Aisdl & ¥ & 3@ wrar g1 399  srf¥ei=r ufeaensi 3 gevae mafie & faer sk
PC 3 ANl # FHI B YR I a% Ugaq & ¥R & U F W 31 T I8 dAfaeradt
T & dR W Higl gREdR e 3R ISP & NT §e3e Ugd &1 SUahT odt g1 354
areior MaH & i 9w GHT SHESR @Y, ISP A 98 PC smurfya frae! & Wity te
THd Ugd fig & &0 A b o3 31 vary a1 31 $© uRaierset A ggr ®IHEl a@ g
& foru arRay Menfiat & a1y wan fear g1

Project have experimented with the _ technology to reach the remote
location:/ TRAISHTSM & g WMl P Ugad & fag Wt & 1y v fean
gl



1. ICT

2. Kiosks/ frars
3. Wireless/ araRay
4, Satellite/ 3Udg

Correct Answer :-

« Wireless/ IR

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fqar: Fafefad Twiz 1 eaFyd® dea IuF 1 i3 T sglawed! w=xei & 98t
fawea &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large nhumber are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ARG B I7% fow glaursHe WAl W J91¢ erH F1 & ¢ GeAr vd =R
WfIfeal (ICT) &1 UG dear o1 TeT 81 T ICT Sy AFIR® ®1 391d Tial A g
=T R (S e TR, GgeR) 9, I, ST T aReR) fIUTT) Y Sarg o
B P YA B 81 T SN dgar Ud frwrad) SAfaefadt aum wshaor qururT 9= a4
# ICT $T TGN FRd &1 $§ WPR-ANTNSD (G-C) I-Ta-He urgae uiRare-raii 3 ugd
o, 3MUR H gfg HA, THHUI ANl I YAdH H1, URSRAT T, 3R Th IHY ¥ &
forg 591 wenfiferal @) eruam &1 yar far 81 uraee uRatsrnei & +=u & ardior §-1ra-de
VAT P TP T =T fafrd & Tt & S A Jarsit 9% IRa Ugd ueH e iR
WPR-ANNS HGGRI P YHHUI B gaX T4 W Afad AITTH F $S 7 =R W TR
AT fHar 8 SR 3ot Aauad—er ugfaal & foe ufafyd RepR o 81 317 arfior
T A 1CT P wfaa guidt g 3R 5% UTd $-Trade uRaisHT sraf=rad & foau a<d
Aisdl & U A 3@ A1dT 81 599 A iy ufvaieErse 4 geae M # faer oiv
PC & dRTal § FHI 3 Ygr R dF Ugd & GO & FU § 3@ g1 9 I PAfaefad]
IUTYH & dR W Hiel RUAR el 3R ISP & WY $evAe Ugd &1 Ul odt g1 S5i1



areior MaH F I 9w GHT SHSR @Y, ISP A 98 PC smerfya ferae! & Wity te
THd Ugd fig & &0 A b o 31 vary a1 31 70 uRaiereh A ggr ®IHEl @ uga
¥ foe arara MmNt & a1y wah foear 31

Offering easy access to citizen service and improved processing of

transaction: /RIS Jd13i} 96 A Ugd USH HAT 3R BRI & UHHUT B
IR ST

1. Government-panchayat/ IReR-UI-Id
2. Government-industry/ WHR-IINT

3. Government-government employees/IRGR-TIBR FHARL

4, Government—citizens/{-leoraN--ﬂ*llﬂecb

Correct Answer :-

. Government-citizens/IRHR-ARTRE

Topic:- Grad_Child Care and Education

1) Pre School Education related to:/3Tdl qﬁﬁT&nﬂ'ﬁﬁlﬁﬁ:
1. InformaI/GﬁI'EﬁlTﬁE

2. Formal /3o

3. Informal & FormaI/SﬁI'lﬁTW qUT SRS

4. None of above /3Widd | s Ta!

Correct Answer :-

« Informal/3MU=TR®

2) Need of protection is for:/ H3&UI HI JTagHdT H| &
1. For Development/ fa&™g & o/

2. Emotional Maturity /Hdd® TRUaddl

3. For Adjustment/ FHEH & fo@

4. All of the above /C{Clﬁ?ﬁ[ gt

Correct Answer :-

« All of the above /EC@HH bt

3) Determination of Development is:/ﬁwa?ﬁ%ﬁ?ﬂ?aa%:



1. Maturity/ gRUadar
2. Growth cycle/ 3fs ah
3. Energy / 3ol

4. Growth of Rhythm/ dfg &1 &

Correct Answer :-

« Maturity/ giRgagar
4) CANCELLED

What is the name of school situated in Lucknow for giving special Education

for hangicapped children? /IR fawmaiT aras! f Rian ag a@=e; i faemaa &
9 T 82

1. Chetna Center/dd" &%

2. Samarpan Center/?l’ﬂrchh

3. Bhavishy Center/Hfa™ &%

4. None of the above/ B’@Hﬂﬁ@f?ﬁé:@'

Correct Answer :-

. Chetna Center/dd &%

5) Characteristics of Informal Education/sﬁ'qilTﬁH? ﬁT&I‘IHﬂﬁTﬂW:-
1. Characteristics of Informal Education/3NuaTRes & & fa=iwr:-

2. Life long education / Sia+ o= fRref

3. Nil Syllabus/f*R& urgdsHH

4. All of the above /SWRIead I

Correct Answer :-

« All of the above /IWRiad gt

6) Creativity is related to?/goATa®dl fead THEfE 32
1. New Ideas/dHH faarR

2. Imagination/ WTﬁ
3. Flexible/ <r&idagA

4. All of the above /Z{Elﬁih_-[ gt

Correct Answer :-



« All of the above /EEIﬁT:R-[ gt

7) CANCELLED

Which is not chief principles of development?/aﬁqmﬁmﬁmﬁ%?
1. Continous speed /¥R 3faxd Tifd

2. General to specific/ IJH O e

3. Specific pattern / [f3d ufa=y

4. Maturation & learning / URUadar Td S

Correct Answer :-

« Maturation & learning / GRUadar Td 3

8) Who is the founder of Trail & Error Theory?/ fFH # ¥ $IH ye+ iR Yo frgid &
oI STaT 82

1. Theorndike / TS ELg

2. Pavlov / Ulddld
3. Skinner/ TR
4. Kohler/ @8R

Correct Answer :-

e Theorndike / ANTS ELg

9) Brale Lipi is related to:/ Safefy G fid g:
1. Blind child/ 3% S1a&
2. Speech handicapped / aTuft fd& i dlcid

3. Mentally Retarded child/AIHE STeldh

4. None of the above / SWRiad B J BIs gl

Correct Answer :-

« Blind child/ 3f8 STa®

10) Imitation, Attention are related to: /3J®HRU ATATHYUI-TIE R 3:
1. Language development / HTYT fa®r

2. Social Behavior/ IMHIS® HdgR



3. Mental Behavior/ AFRI®G TdER
4. None of above/ IWRIad A A &5 ol

Correct Answer :-

« Mental Behavior/ AFRI® HTER

11) Right stage of child development is:/ STd fd®HTT &1 &l SIPH: :
1. Babyhood, childhood /a4, STedd®T

2. Prenatal, infancy / Wlﬁﬁmﬂ, CELL!

3. Prenatal, childhood / Wufaw, EISER

4. Childhood, prenatal/STeaa®iT, THIgRIT

Correct Answer :-

« Prenatal, infancy / TTHIg®T, AU

12) Change in development is: / fapra § uftad- gid 8:-

1. Qualitative change/ IO URadH

2. Quantitative change/ HATHD JHATHD
3. Creative change/ JTTHS URad
4. None of above/ SWRiad & ¥ $Is gl

Correct Answer :-
. Qualitative change/ TUTd® URad—

13) Foundation of National AIDS control organization is:/ ?T@HWH%WITFIT
&9 oI g At

1. 1991
2. 1993
3.1992

4. 1990

Correct Answer :-

« 1992

14) Among these which is not the classification of exceptional child?/ 378 d

1 fafdy S & TEffezor A 98 omar 82



1. Intelle actual /g e
2. Motor/TH® fageH
3. Sensory Deviance / dag! faged

4. Child welfare scheme / ST HedT0T GIoHRA

Correct Answer :-

« Child welfare scheme / EINEIRINEISEIR]

15) We understand Handicap child as:/ﬁﬁﬁﬂiﬁiﬁsﬂmﬁﬁ
1. IQ less than Normal/ Tg'@wﬁﬂ

2. IQ more than Normal/ Tg"@w@f 3{feH

3. Physical disability/ QIR qy

4. None of the above/ IWRIdd 4 ¥ BIs Ta!

Correct Answer :-

« Physical disability/ IRIN® ¥

16) Which of the following is not the stage of language development? / fada
B ot yTaT faprT Ft srawa A8 82

1. Preparation of speech/ Sl &1 ddRs
2. Sentence use/ TR TART

3. Correct pronunciation/ X& SERUI
4. Socialization/ FHTSIIRUT

Correct Answer :-

« Socialization/ JHTSIHU

17) CWSN specially ment for child with special need connecting them with

main stream:/CWSN faRIv saxgsdr arat a=i &1 YB3 ¢RT A s & e ugd &-
1. True /94

2. Wrong/3dd

3. Partially true/3fifR1e ¥

4. Partially wrong / 3fifR1% 30

Correct Answer :-

e True /I



18) Who is the Founder of Creative Test?/goHTd® W& & fAmfar w19 82
1. Gilford/fepTs

2. Freud/™h1ds

3. Skinner/ &R

4. Pavlov / urgeld

Correct Answer :-

. Gilford/fTe®$

19) Meaning of prenatal is:/ WHed &1 31 §:
1. Period of before Birth /wqﬁw

2. Period of After Birth / S diq ¥HI

3. Conception /mrf%n:r

4. Period of embryo/fUUs 3{a=y

Correct Answer :-

« Period of before Birth /S qd &4

20) Integrated child development services started from: / JAf&d a1a fawra dar
YIS B YRY P 718:

1. 1975
2. 1985
3. 1987

4. 1999

Correct Answer :-

« 1975

21) Continous Process is:/ fARaz ge areft ufsrar 2:
1. Growth /q@

2. Development/ IEEQR

3. Growth & Development/dfg Td fa®ra

4. None of above/ IWIad H ¥ BIs Tal



Correct Answer :-

« Development/ fa®r

22) AIDS causes through:/ t{ﬁﬁﬁl‘cﬂ%
1. Through Virus/fa'ﬁﬂ'f{[@[

2. Cough & Cold/ Wcf J&™

3. Through mosquito/ T

4. All of the above / IRIad gaft

Correct Answer :-

« Through Virus/ﬁ'ElTU\I@[

23) Which is not law of learning:/ fF9 A ¥ #19 Wi@A &1 fFraw T8
1. Law of readiness/ﬂmﬁﬁ'ﬂﬂ

2. Law of exercise /3% &1 fA9H

3. Law of effect /Hﬂ-l'l'q’ﬁﬁ?m

4. Law of medal/Av8d &1 a0

Correct Answer :-

« Law of medal/Avsd &1 fAad

24) Purpose of Instruction is:/ﬁﬁ?ﬁ%ﬁ%{@%:
1. Development of Ability/ grgarst &1 fae ™

2. Help in personality Development / Hfddd fam | Terad]
3. Help in decision making / fuial & Ggras
4. All of the above/ IR g

Correct Answer :-

« All of the above/ SWRiad gt

25) Exceptional children Quality is different from Normal child: /3y a6 &
T[0T T STad J T 8d @

1. Quantitatively / HEHATH®

2. Qualitatively / TUTH®



3. Quantitatively & Qualitatively / HIATH®D GﬁTW
4. None of the above/ IWRIad # ¥ &Is Tal

Correct Answer :-

. Quantitatively & Qualitatively / AEE® 3R TOMHS

26) Integrated child protection scheme is related to?/@ﬁmﬁ?&mlﬂw
frad Tafa 32

1. Protection of child Rights/ STal 3fYGRI BT &
2. Child development / dTd faerg
3. Child protection/ STd IR&0T

4. Child care/ STd SQHTA

Correct Answer :-

« Child protection/ dTcT HR&fUl

27) National Handicap Organization is situated at: / P19 fa@aiT R Fl (YT

e
1. New Delhi/7s faech
2. Mumbai / 4%

3. Deharadun / 362@3
4, Calcutta/ Siadmdl

Correct Answer :-

« New Delhi/ﬁﬁﬁﬂ

28) Memory mental Ability is related to:/ wﬁr, g@!ﬁmmwma e
1. Mental development / A& fdH™g
2. Creative development / Wﬁm

3. Cognitive / IS fdHTy

4. None of the above / mﬁﬁaﬁéﬂﬁ

Correct Answer :-

« Mental development / AFRI® fa®mr



Which factor is not influencing human development: / % #199 fd®ra & yyifaa
H 9Tl RS 8l 8:

1. Heridity & Environment /W@W
2. Nutrition/ GISOT
3. Family/ IRaR

4. Infancy / dd4-

Correct Answer :-

« Infancy / ddUd

30) Education of children with unable learning is:/3ftRTH 31&/T aTae] ot R8T 3G:
1. Ability Training/ J1vdT UfRrefor

2. Skill training/ 1T UfRreror

3. Ability training & Skill training/ TFodT UfRTETT qUT SI=Te UTRTeror

4. None of these/ 370 q ®I3 8!

Correct Answer :-

« Ability training & Skill training/ T URNETr qUT BRI UiRieror
31) XY Chromosomes are called/ XY Wﬁﬁﬁ%

1. Sex chromosome/ﬁfiﬂw

2. Combination chromosome/ Eﬁlw

3. Rhesus factor/ 99 thaex

4. Unique chromosomes/ mw

Correct Answer :-
. Sex chromosome/ &R TUREA

32) Which of the following is first develop teeth? /<9 & & S A1 gid UYH IR
fapfua gar g2

1. Milk Teeth/gy & gid
2. Permanent teeth/XTs aid

3. Occlusion /q-d 3{dYRU
4. Above all /mﬂﬂ-ﬁ

Correct Answer :-



« Milk Teeth/g¥ & afd

33) According to Torense characteristic of creative person is:/m%aﬂ'ﬂﬂ
oIS Aafaadl i fpa-t fa=ivarg g 3:

1. 84 characteristic/ 84 fa=warg
2. 96 characteristic / 96 fa=vamQ
3. 02 characteristic/ 02 faRvam

4. 42 characteristic/ 42 faRwdm

Correct Answer :-

« 84 characteristic/ 84 faRvang

34) Special Education is related to:/ & @ 1 fafXry fyen & gferfea €
1. Special teacher/ faf2my fRrem fag

2. Special Reading material/ fafRy urey It

3. Special activity/ fafry foran fafe

4. All of the above/ IWRIE FHt

Correct Answer :-

« All of the above/ IWRiad g+t

35) Among these which is/are aims of special Education?/fA # @ ®19 faQiy

fien o1 SERa o/

1. Help in adjustment/ THTASH H &Rl
2. Maximum development of ability/aaal &1 ifdwad faemr

3. Economic Independence / 3@ Tadad

4. All of the above / IWRIad g+t

Correct Answer :-

« All of the above / IWRiad g+t

36) First step in child language development is:/ AP HTUT faeprg & Sfavfa gad
g e 3:

1. Pronoun/ ga-TH
2. Noun/ S31



3. Tense/ dId
4. Verb/ forar

Correct Answer :-

« Noun/ T3l

37) What is the programme at national level for Special children & women

care:/ fafre sTere! gd Afgensii 1 I@UTH 3g AP TR &1 S14 HH 1 6:
1. D.M.C.A.R/ SL.THH TSR

2. D.C.R.A.W/ S E1.3R TS

3. D.W.C.R.A/ Sl S &1.3R.T

4. D.R.A.C.W/ SI.3R. Tt S

Correct Answer :-

« D.W.C.R.A/ SIS Hl.3MR.T

38) Full form of AIDS is:/ USH &1 QRT ATH HIT 8:

1. Acquired Immune Deficiency Syndrome / QEO‘RECW St ﬁl@'ﬁ
2. Acquired Immune syndrome / T&Ta8 g1 RigH

3. Acquired syndrome/ T&HTTS RIgH
4. None of above/ mﬁé:@

Correct Answer :-

« Acquired Immune Deficiency Syndrome / QE?‘NEFETQH SpR Q:\‘:i ﬁl@'ﬁl

39) Who does sex determination?/ &I feiT frufzor #war g2
1. X Chromosome/ X HIHGH

2. Y Chromosome/ Y SIANIH

3. XY Chromosomes/ XY S

4, XX Chromosomes/ XX HIH™H

Correct Answer :-

o« XY Chromosomes/ XY HIHH

40) Crying is related to: /AT W& &



1. Language/HTudT
2. Social/ITHIN®
3. Emotion/IavTcA®

4. Motor/TTddIHD

Correct Answer :-

« Language/HTdl

41) Persona related to:/WRHAT Tl 3:
1. Emotion/¥aT

2. Personality/afddd

3. Language/YTdI

4. Physical/ YRING

Correct Answer :-

« Personality/aafadd

42) When National AIDS Day celebrated?/ fay g fga® & w=ran o 32
1. 1st November/ 1st dd¥&R
2. 1st December/1st faateR

3. 1st June/ 1st 9
4. 1st July/1st S8

Correct Answer :-

o 1st December/1st foateR

43) Important factor in social development is:/mﬁmﬁmaﬁ%:
1. Heredity/ d=IIIshH

2. Gender/ T

3. Environment/ drdrdarul

4. Heredity & Environment/ d=IIIhH 3R qTATaRT

Correct Answer :-

e Environment/ drdrd=ul



44) Foundation of National Institute of public cooperation & child development

is:/ IISETY S AN UG 9T FIBT AT Bt RITYAT HF DI T3 A
1. 1966
2.1978
3.1980

4. 1967

Correct Answer :-

« 1966

45) Types of inability learning are:/3IfRTH 3&WdT & UPR 8:
1. Problem related maths / TIOId &t IHIT

2. Writing Problem / foraq &1 siemar

3. Reading Problem / UG- &I gHET

4. All of the above / IWRiad g+t

Correct Answer :-

« All of the above / IWRiad g+t



